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SECTION - I

- I

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions all in this section.

All questions are compulsory.

1. According to Bandura, observational learning involves various processes and follows a sequence. Which

of the following sequence is the correct one ?

1. Attention Process 2. Memory/Retention

3. Imitation/Production 4. Motivation

Code -

(A) 1, 2, 3, 4 (B) 2, 1, 3, 4

(C) 3, 1, 2, 4 (D) 4, 3, 2, 1

(A) (B) 

(C) (D) 

2. As per the RTE 2009, which of the following is not a responsibility of a teacher?

(A) Regular attendence in the school

(B) Complete the entire course within the specified time

(C) Regular meetings with parents and guardians to inform them about child's progress

(D) Determination and preparation of syllabus

(A) 

(B) 

(C) 

(D)
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3. Which of the following statement is incorrect with respect to the principles of development?

(A) Development is caused by continuous interaction between heredity and environment

(B) Development is based on maturity and learning

(C) Development is only quantitative process which can be measured

(D) Every child goes through all stages of development, yet there may be individual differences

(A) 

(B) 

(C) 

(D) 

4. Which of the following is not a characteristic of later childhood?

(A) At this stage the child is endowed with all the necessary mental powers but his vocabulary is limited

(B) It is a time of physical and mental instability in which the child wanders in the imaginary world

(C) The tendency of discovering new things and wandering increases considerably in this stage

(D) This stage is also known as play age

(A) 

(B) 

(C) 

(D) 

5. With which statement do you disagree in the context of National Curriculum Framework 2005 (NCF-2005)?

(A) Student create knowledge with help of their experiences

(B) The creative perspective indicates that every student makes sense personally and socially

(C) The knowledge required to do creative or complex work lies in the circumstances

(D) The process of creative learning revolves around a teacher and he/she plays the central role in it

 (NCF-2005)

(A) 

(B) 

(C) 

(D)
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6. Which of the following is not related to Action Research?

(A) It helps in eliminating the conservative environment prevailing in the school

(B) Its scope is broad and it compiles information for taking decisions on a large scale

(C) It emphasizes on open changes in the objectives and its system

(D) Participants study, direct, improve and evaluate their problems in a scientific manner.

(A)

(B)

(C)

(D)

7. In which academic session was the learning outcomes included in Rajasthan with determined criteria?

(A) 2015-16 (B) 2017-18

(C) 2018-19 (D) 2019-20

(A) 2015-16 (B) 2017-18

(C) 2018-19 (D) 2019-20

8. Intelligence can be defined as-

1. Perception ability 2. Ability to learn

3. Ability to understand 4. Ability to know

Code -

(A) Only 2 and 4 (B) Only 2, 3 and 4

(C) Only 1, 3 and 4 (D) 1, 2, 3 and 4

(A) (B) 

(C) (D) 

9. A procedure that establishes a sequence of response which lead to a reward following final response and

then working backwards is called-

(A) Shaping (B) Stimulus Control

(C) Chaining (D) Stimulus Generalization

(A) (B) 

(C) (D) 
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10. Match List 1 with List 2

 List-1 (Concept) List-2 (Psychologist)

A. Mental Age 1. Stern

B. Intelligence Quotient 2. Binet

C. Mental Test 3. Spearman

D. Tetrad Equation 4. J.M. Cattell

A B C D

(A) 1 2 3 4

(B) 2 1 4 3

(C) 3 2 1 4

(D) 4 3 2 1

A. 1. 

B. 2.

C. 3. 

D. 4. 

A B C D

(A) 1 2 3 4

(B) 2 1 4 3

(C) 3 2 1 4

(D) 4 3 2 1

11. Motivation is best understood as a state that -

(A) Reduces a drive (B) Aims at satisfying a biological need

(C) Energises an organism to act (D) Energises and directs behaviour

(A) (B) 

(C) (D) 

12. According to freud, negativism as menifested by defiance of parental orders is most pronounced during

the stage -

(A) Anal (B) Genital

(C) Oral (D) Phallic

(A) (B) 

(C) (D) 
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13. According to Piaget, what is the correct order of emergence of following abilities -

1. Concentration 2. Propositional Thinking

3. Egocentric Behaviour 4. Mental respresentation of reality.

(A) 4, 2, 3, 1 (B) 4, 1, 3, 2

(C) 1, 3, 4, 2 (D) 1, 4, 3, 2

(A) 4, 2, 3, 1 (B) 4, 1, 3, 2

(C) 1, 3, 4, 2 (D) 1, 4, 3, 2

14. Correct set of personality traits according to G.W. Allport -

(A) Cardinal, Central and Secondary (B) Primary, Cardinal and Central

(C) Central, Peripheral and Dominant (D) Primary, Secondary and Central

(A) (B) 

(C) (D) 

15. Which of the following is related to Inductive reasoning -

(A) Ability to think ahead

(B) Drawing conclusions from several obsevations

(C) Inference drawn from one particular to another particular

(D) Evaluating that whether a conclusion can be drawn from two statements

(A) 

(B) 

(C) 

(D) 

16. A boy wants to attend wedding ceremony of a friend in night. At the same time he also wants to go for

shopping with his parents. This kind of conflict can be termed as-

(A) Approach-Approach Conflict (B) Avoidance-Avoidance Conflict

(C) Approach-Avoidance Conflict (D) Multi approach-Avoidance Conflict

(A) (B) 

(C) (D) 

https://www.print-driver.com/?demolabel-en


(8)ST-2 A

P.T.O.

17. Which one of the following is not a characteristic of Assessment.

(A) It is related to cognitive domain only (B) Assessment is the collection of informations

(C) It is a continuous process (D) Its form is corrective

(A) (B) 

(C) (D) 

18. Which of the following is/are correct with respect to individual differences.

(A) Differences in the intelligence level (B) Difference in Achievement

(C) Difference in Motor ability (D) All of the above

(A) (B) 

(C) (D) 

19. Which one of the following laws of heredity is associated with Sorenson.

(A) Like bigets like (B) Law of variation

(C) Law of Regression (D) Law of biometry

(A) 

(B) 

(C) 

(D) 

20. A person rattels the box of dog’s biscuits before giving the biscuit to dog. As the person rattles the box

the dog begins to salivate. Thus rattling of box is______ ; and the salivation of dog is a kind of_____.

(A) CS; CR (B) CS; UCR

(C) UCS; CR (D) UCS, UCR

(A) CS; CR (B) CS; UCR

(C) UCS; CR (D) UCS, UCR

21. Linguistic development mainly depends upon-

(A) Motivation (B) Conditioning

(C) Imitation (D) All of these

(A) (B) 

(C) (D) 
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22. Which of the following is incorrect-

(A) Thinking is cognitive process

(B) Problem is a condition for which a person has already prepared a remedy

(C) There is no exclusive difference in steps of problem solving and creative thinking

(D) Difference in level of creativity can be found in persons having same IQ

(A) 

(B) 

(C) 

(D) 

23. Which of the following concept is not related to constructivist approach ?

(A) Explore (B) Explain

(C) Excitement (D) Evaluate

(A) (B) 

(C) (D) 

24. Which of the following should be given more importance while identifying a gifted child.

(A) Decision of teacher (B) Profession chosen for livelihood

(C) Background of the family of child (D) Objective test

(A) (B) 

(C) (D) 

25. Which of the following characteristic is significantly related to dyslexia instead of ADHD.

(A) Changing position of letters in words (B) Inability to hear

(C) No uniformity in work (D) Lack of concentration

ADHD

(A) (B) 

(C) (D) 

26. Which of the following is not a characteristic of mentally retarded children ?

(A) IQ ranges between 25-70 (B) They are completely uneducable

(C) Abnormal and uncontrolled mental operation (D) Intellectual impairment

(A) (B) 

(C) (D) 

https://www.print-driver.com/?demolabel-en


(10)ST-2 A

P.T.O.

27. Which of the following reinforcement is related to positive punishment -

(A) An unpleasant stimulus is presented to decrease behaviour

(B) An unpleasant stimulus is removed to increase behaviour

(C) A pleasant stimulus is presented to increase behaviour

(D) A pleasant stimulus is removed to decrease behaviour

(A) 

(B) 

(C) 

(D) 

28. Which of the following is not a characteristic of learning -

(A) Learning is change in behaviour

(B) Learning is change in human attributes and capability

(C) Learning is change in those abilities and attributes which are result of maturation

(D) Learning is a change in an individual due to change in his environment

(A) 

(B) 

(C) 

(D) 

29. Which of the following is level of moral development according to Kohlberg

(A) Stage of cognitive thinking (B) Post conventional morality

(C) Sensory motor stage (D) Moral development of retributive justice

(A) (B) 

(C) (D) 

30. The element of learning like concept formation and problem solving is given by-

(A) Cognitivists (B) Behaviourists

(C) Symbolists (D) None of the above

(A) (B) 

(C) (D) 
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- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 
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36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 

38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 

42.

(A) (B) 

(C) o (D) ^
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43.

(A) (B) 

(C) (D) 

44.

(A) (B) 

(C) (D) 

45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

1. i. 

2. ii. 

3. iii. 

4. iv. 

1 2 3 4

(A) ii iv iii i

(B) iv i ii iii

(C) i ii iii iv

(D) iii iv ii i

50.

(A) (B) 

(C) (D) 
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51.

(A) (B) 

(C) (D) 

52.

(A) (B) 

(C) (D) 

53.

(A) (B) 

(C) (D) 

54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) 

(B) 

(C) 

(D) 

58.

(A) (B) 

(C) (D) 

59.

(A) (B) 

(C) (D) 

60.

(A) 

(B) 

(C) 

(D)
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SECTION-II

LANGUAGE - I

ENGLISH

There are 30 questions all in this section.

All questions are compulsory.

Direction (31-35) : Read the passage carefully and answer the questions given below:

Speed is the hallmark of modern civilization. In this world of cut throat competition, he sets endless

aims. But, success always results from steady pursuit of aim. The work done by fits and starts leads one

nowhere. At a rule, for the proper execution of work, both constancy and steadiness are necessary. A

diligent person is not discouraged by difficulties. He continues to march towards his goal of life. Thus,

he steals a march on a person, who believes that success is sudden and effortless. The haphazard manner

of spending hours on one’s project may not yield satisfactory results. A persistent man keeps his head

cool and achieves his goal steadily. Thus, to be successful, one must move on and on steadily though

slowly. In fact, persistence is a key to success.

31. Which out of the following is the synonym of the word “Random”?

(A) Methodical (B) Systematic

(C) Organized (D) Haphazard

32. Which out of the following is the antonym of the word “Indolence”?

(A) Discouraged (B) Persistence

(C) Energetic (D) Satisfactory

33. Which is the correctly spelt word?

(A) Gyneacologist (B) Gynecologist

(C) Gyenecologist (D) Gynaecologist

34. A person who is appointed by two parties to solve a dispute. Give one word-

(A) Arbitrator (B) Ascetic

(C) Convalescent (D) Ambidexterous

35. A persistent man keeps his head cool and achieves his goal steadily.  Identify the underlined word-

(A) Adjective (B) Adverb

(C) Noun (D) Verb
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36. She said, “Where were you yesterday?”

Which out of the following is the correct Indirect speech?

(A) She asked (me) where I had been the previous day.

(B) She asked (me) where had I been the following day.

(C) She asked (me) that where I was the previous day.

(D) She inquired of me where was I the previous day.

37. They played a friendly match yesterday.

Identify the underlined-

(A) Noun (B) Adjective

(C) Adverb (D) Verb

38. Maria was cooking rice in the kitchen.

Which is the correct passive voice of the given sentence?

(A) Maria was being cooked rice in the kitchen. (B) Rice are being cooked in the kitchen by Maria.

(C) Rice were being cooked by Maria in the kitchen. (D) Rice was being cooked by Maria in the kitchen.

39. Birbal was……..than  Akbar.

Supply the appropriate degree of adjective.

(A) wiser (B) more wiser

(C) more wise (D) the more wise

40. Kashmir is……………between India and Pakistan.

(A) an apple of eye (B) an apple of discord

(C) an apple of fight (D) None of the above

41. You can park the car on…….side of the road.

(A) either (B) none

(C) both (D) neither

42. Choose the correct tense of the underlined verb phrase:

Vinita said that she had been waiting for me for two hours when I arrived.

(A) Simple past (B) Past perfect continuous

(C) Past perfect (D) Present perfect continuous

43. She is going to Delhi now…….

Use the correct question tag.

(A) is she? (B) was she?

(C) haven’t she? (D) isn’t she?
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44. “I ran  fast.”

Tense of the above sentence has been correctly changed into present continuous in:

(A) I have been running fast . (B) I am running fast.

(C) I had been running fast. (D) I was running fast.

45. Which part of speech is the underlined word in the sentence given below?

“Some people seem to have a good attitude towards most things.”

(A) Adverb (B) Preposition

(C) Adjective (D) Conjunction

46. Which of the following helps in learning the second language without using the printed text?

(A) Translation cum Grammar method (B) Situational approach

(C) Natural approach (D) Language immersion

47. Why is story telling most important in English language class at primary level?

(A) It develops moral values among the students. (B) It improves students’ vocabulary.

(C) It creates fun in the class. (D) It is useful for developing integrated language skills.

48. While writing, storing skills

(A) mapping (B) summarising

(C) reducing a passage length (D) expanding an idea

49. Which pair of words have the same sound ending?

(A) rice and rise (B) here and where

(C) copy and apostrophe (D) bear and beer

50. The structured interpretation and giving of meaning to predicted or actual impacts of results is called-

(A) Summation (B) Range

(C) Coverage (D) Evaluation

51. Audio-visual aids are used in classrooms to-

(A) discourage teaching learning process.

(B) encourage teaching learning process.

(C) minimize the interest in teaching learning process.

(D) All of the above.
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52. Which out of the following is correct in the reference to the structural approach?

(A) Structural approach is a technique wherein the learner masters the pattern of sense.

(B) Structures are the different arrangements of words in one accepted style or the other.

(C) Structural approach includes various modes in which words, phrases and clauses might be used.

(D) All of the above.

53. There are four different kinds of reading

(A) pleasure, information, details, skimming (B) searching, discovering, scanning, extensive

(C) skimming, scanning, extensive and intensive (D) skimming, scanning, discovering, searching

54. Grammar is taught inductively in-

(A) Translation cum Grammar method (B) Direct method

(C) Audio- lingual method (D) Bilingual method

55. Which is called Berlitz method?

(A) Direct method (B) Audio-lingual method

(C) Grammar-translation method (D) Bilingual method

56. A text-book-

(A) provides reading material

(B) has specific graded vocabulary

(C) occupies an important role in Grammar translation method

(D) All of the above

57. The correct phonetic transcription of the word “Massage” is-

(A) /mæsa:z/ (B) /m sa:z/

(C) /mæsa:Z / (D) /ma:sa:z/

58. A phoneme is-

(A) the minimal distinctive unit in the sound system of a language

(B) the science of word structure

(C) the science of syntax

(D) the use of different registers

59. The sound which is produced without friction is called a-

(A) vowel (B) consonant

(C) voiced (D) none of the above

60. Thematic

Identify the underlined sound.

(A) /I/ (B) /I:/

(C) /e/ (D) / /
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- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 
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36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 

38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 

42.

(A) (B) 

(C) (D) 

43.

(A) (B) 

(C) (D) 
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44.

(A) (B) 

(C) (D) 

45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

(A) (B) 

(C) (D) 

50.

(A) (B) 

(C) (D) 

51.

(A) (B) 

(C) (D) 

52.

(A) (B) 

(C) (D) 
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53.

(A) (B) 

(C) (D) 

54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) (B) 

(C) (D) 

58.

(A) (B) 

(C) (D) 

59.

(A) (B) 

(C) (D) 

60.

(A) (B) 

(C) (D) 
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ਖੰਡ-II 
ਭਾਸ਼ਾ- I 
ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l 
ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

31. ਩ੰਜਾਫੀ ਵਿਸ਼੃ ਦਾ ਅਵਧਆ਩ਕ ਆ਩ਣ੃ ਵਿਸ਼੃ ਦਾ ਭਾਵਿਯ ਅਤ੃ ਵਭਿਨਤੀ ਿ੅ਣ ਦ੃ ਨਾਰ-ਨਾਰ ਿ੅ਣਾ ਚਾਿੀਦਾ ਿ੄ -
(A) ਫਿੁਤ ਵਜਆਦਾ ਕਠੋਯ (B) ਫਿੁਤ ਵਜਆਦਾ ਉਦਾਯ
(C) ਸੁਵਿਯਦ ਅਤ੃ ਸਭਝਦਾਯ (D) ਿਿਭਾਂ ਤ੃ ਪਵਸਆ ਿ੅ਇਆ
32. ਵਿਅੰਜਨ ਦ੃ ਦ੅ਿਯ੃ ਉਚਾਯਨ ਰਈ ਕੀ ਿਯਵਤਆ ਜਾਂਦਾ ਿ੄-
(A) ਵਫੰਦੀ (B) ਵ ਿੱ ਩ੀ
(C) ਅਿੱ ਧਕ (D) ਵਸਿਾਯੀ
33. ਯਾਜਸਥਾਨ ਸਯਕਾਯ ਦੁਆਯਾ ਕ੅ਯ੅ਨਾ ਦ੃ ਰਾਕਡਾਉਨ ਕਾਰ ਵਿਿੱਚ ਸਕੂਰੀ ਫਿੱ ਵਚਆਂ ਦੀ ਵਸਿੱ ਵਖਆ ਰਈ ਚਰਾ਋ ਜਾ ਯਿ੃
‘ਸਭਾਈਰ ਩ਰ੅ਗਯਾਭ’ ਦ੃ ਤਵਿਤ ਵਕਿੜ੃ ਸਿਾਇਕ ਸਾਧਨ ਦੀ ਭੁਿੱ ਖ ਤ੅ਯ ਤ੃ ਿਯਤੋਂ ਕੀਤੀ ਜਾ ਯਿੀ ਿ੄-

(A) ਰ੄਩ ੅਩ (B) ਸਭਾਯ  ਪ੅ਨ
(C) ਕੰਵ਩ਊ ਯ (D) ਸਕੂਰ ਦੀ ਜਭਾਤ
34. ਗੁਯਭੁਖੀ ਵਰ਩ੀ ਵਿਿੱਚ ਕੁਿੱ ਰ ਵਰ਩ਾਂਕ ਵਕੰਨੇ ਿਨ ?
(A) 56 (B) 42
(C) 65 (D) 48
35. ਩ਯਨੀਤ ਨੇ ਵਿਆਕਯਨ ਦੀ ਵਕਤਾਫ ਵਰਖੀ ਅਤ੃ ਭਾਡਰ ਩੃਩ਯ ਿੀ ਫਣਾ਋ l ਿਾਕ ਦਾ ਩ਰਕਾਯ ਿ੄
(A) ਸਧਾਯਨ (B) ਸੰਮੁਕਤ
(C) ਵਭਸ਼ਯਤ (D) ਗੁੰ ਝਰਦਾਯ
36. ਗੋਂਗਰੂੰ ਆਂ ਤੋਂ ਵਭਿੱ  ੀ ਝਾੜਣਾ’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄
(A) ਵਭਿਨਤੀ ਿ੅ਣਾ (B) ਸਭਾ ਗੁਜਾਯਨਾ
(C) ਫਾਿਯੋਂ ਸਿੱ ਵਚਆਂ ਿ੅ਣਾ (D) ਖ੃ਤੀ ਕਯਨਾ
37. ਵਿਸਭਾਦ ਨਾਦ ਵਿਸਭਾਦ ਿ੃ਦ ।। ਵਿਸਭਾਦ ਜੀਅ ਵਿਸਭਾਦ ਬ੃ਦ ।।
ਵਿਸਭਾਦ ਯੂ਩ ਵਿਸਭਾਦ ਯੰਗ ।। ਵਿਸਭਾਦ ਨਾਗ੃ ਵਪਯਵਿ ਜੰਤ ।। ਤੁਕਾਂ ਵਿਚ ਵਕਿੜਾ ਯਸ ਿ੄ ?
(A) ਵ ੰਗਾਯ (B) ਿੀਯ
(C) ਫੀਬਤਸ (D) ਅਦਬੁਤ
38. ‘ ਵਿਰੀਆ’ ਦਾ ਸਭਾਨਾਯਥੀ ਿ੄
(A) ਸਾਥੀ (B) ਸ਼ੁਯੁਆਤ
(C) ਅਵਧਕਾਯ (D) ਸ੃ਿਾਦਾਯ
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39. ਸਫਦਾਂ ਦ੃ ਉਸ ਇਕਿੱਠ ਨੰੂ, ਵਜਸ ਤੋਂ ਵਕਸ੃ ਗਿੱ ਰ ਦੀ ਠੀਕ ਸਭਝ ਆ ਜਾਿ੃, ਉਸ ਨੰੂ ਵਕਿਾ ਜਾਂਦਾ ਿ੄-
(A) ਿਾਕ (B) ਫਦ
(C) ਧੁਨੀ (D) ਿਾਕ ਫ੅ਧ
40. ਸੀ ਸੀ ਈ ਵਿਿੱਚ ਵਕੰਨੇ ਭੁਖ਼ ਤਿੱ ਤ ਿਨ
(A) ਇਿੱਕ (B) ਦ੅   
(C) ਵਤੰਨ        (D) ਚਾਯ
ਹ੃ਠ ਵਲਖ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (41- 45 ਤਿੱ ਕ)  ੃ ਉੱਤਰ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਵ ਓ:

ਧਯਤੀ ਭਾਤਾ ਨੰੂ ਧਯਨੀ ਦ੃ਿੀ ਿੀ ਕਵਿੰਦ੃ ਿਨ, ਇਸਦੀ ਩ੂਜਾ ਩ੂਯਿ-ਇਵਤਿਾਵਸਕ ਕਾਰ ਤੋਂ ਩ਰਚਵਰਤ 
ਿ੄। ਧਯਤੀ ਵਸਯ੝ ਅੰਨ-ਦਾਤਾ ਤ੃ ਪਰਦਾਤਾ ਿੀ ਨਿੀਂ, ਧਯਤੀ ਉੱ਩ਯ ਿਸਦ੃ ਸਬ ਩ਰਾਣੀਆਂ ਤ੃ ਫਨਸ਩ਤੀ ਦੀ ਯਿੱ ਵਖਅਕ ਤ੃ 
਩ਾਰਕ ਿੀ ਿ੄। ਧਯਨੀ ਦ੃ਿੀ ਬੂਭੀ ਦ੃ ਯੂ਩ ਵਿਚ ਿਯ ਥਾਂ ਵਿਆ਩ਕ ਿ੄, ਉਸਨੰੂ ਛੂਿ ਕ੃ ਩ੂਵਜਆ ਜਾ ਸਕਦਾ ਿ੄। ਇਸ ਰਈ 
ਧਯਤੀ ਦੀ ਕ੅ਈ ਭੜੀ ਜਾਂ ਅਸਥਾਨ ਨਿੀਂ ਵਸਯਵਜਆ ਜਾਂਦਾ ਤ੃ ਨਾ ਇਸਦੀ ਕ੅ਈ ਭੂਯਤੀ ਫਣਾਈ ਜਾਂਦੀ ਿ੄। ਵਪਯ ਿੀ ਕਈ 
ਵ਩ੰਡਾਂ ਵਿਚ ਵਕਸ੃ ਩ਵਿਿੱ ਤਯ ਦਯਿੱ ਖ਼ਤ ਿ੃ਠਾਂ ਩ਿੱ ਥਯਾਂ ਗੀਵ ਆਂ ਜਾਂ ਠੀਕਯੀਆਂ ਦੀ ਢ੃ਯੀ ਵਜਿੀ ਿ੃ਖਣ ਨੰੂ ਵਭਰਦੀ ਿ੄। ਰ੅ਕੀ 
ਇਿੱ ਥ੃ ਿੀ ਧਯਨੀ ਦ੃ਿੀ ਦੀਆਂ ਸੁਿੱ ਖਣਾ ਸੁਿੱ ਖ ਦ੃ ਤ੃ ਦੁਿੱ ਧ, ਪਰ ਤ੃ ਅੰਨ ਬ੃  ਕਯਦ੃ ਿਨ। ਇਿੱ ਥ੃ ਿੀ ਧਯਨੀ ਨਵਭਤ ਵਘਉ ਦ੃ 
ਦੀਿ੃ ਫਾਰ੃  ਜਾਂਦ੃ ਿਨ। ਦੁਿੱ ਧ ਚ੅ਣ ਿ੃ਰ੃  ਩ਵਿਰੀਆਂ ਕੁਝ ਧਾਯਾਂ ਧਯਤੀ ਭਾਤਾ ਨੰੂ ਬ੃  ਕੀਤੀਆਂ ਜਾਂਦੀਆਂ ਿਨ। ਿਰ ਿਾਿੁਣ 
ਤ੃ ਫੀਜ ਫੀਜਣ ਿ੃ਰ੃ ਧਯਤੀ ਩ੂਜੀ ਜਾਂਦੀ ਿ੄। ਇਸ ਭ੆ਕ੃ ਉੱਤ੃ ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਝ ਕ੆ੜੀਆਂ ਧਯਤੀ ਨੰੂ ਬ੃  ਕੀਤੀਆ ਂ
ਜਾਂਦੀਆਂ ਿਨ। ੝ਸਰ ਦੀ ਿਾਢੀ ਿ੃ਰ੃ ਕੁਝ ਕੁ ਫੂ ੃ ਧਯਨੀ ਦ੃ਿੀ ਦੀ ਬ੃ ਾ ਿਜ੅ ਛਿੱ ਡ ਵਦਿੱ ਤ੃ ਜਾਂਦ੃ ਿਨ। ਇਸ੃ ਤਯਹਾਂ ਨਿੇਂ 
ਭਕਾਨ ਦੀ ਨੀਂਿ ਯਿੱ ਖਣ ਰਿੱ  ਵਗਆਂ ਩ਵਿਰਾਂ ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਦ੃ ਵਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃ ਤ੃ ਕ੆ਡੀਆਂ ਆਵਦ ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ 
ਵਿਚ ਩ਯ੅ ਕ੃ ਧਯਨੀ ਭਾਈ ਦੀ ਬ੃  ਚੜਹਾ਋ ਜਾਂਦ੃ ਿਨ । ਵਕਯਸਾਨ, ਦੁਕਾਨਦਾਯ, ਿ਩ਾਯੀ ਅਤ੃ ਆਜੜੀ  ਆਵਦ ਿੀ ਧਯਤੀ 
ਭਾਂ ਦੀ ਩ੂਜਾ ਕਯਦ੃ ਿਨl  ਸੰਕ  ਿ੃ਰ੃ ਔਯਤਾਂ ਧਯਤੀ ਭਾਂ ਨੰੂ ਯਿੱ ਵਖਆ ਰਈ ਦੁਿਾਈ ਵਦੰਦੀਆਂ ਿਨ। ਧਾਯਨਾ ਿ੄ ਵਕ ਸਵਤ ਦੀ 
਩ਤ ਧਯਤੀ ਯਿੱ ਖਦੀ ਿ੄। 
41. ਩੄ਯਹ੃  ਵਿਿੱ ਚ ਆ਋ ‘਩ਤ’ ਸ਼ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਇਿੱਛਾ (B) ਇਿੱਜ਼ਤ
(C) ਵਜਿੱਤ (D) ਿਾਯ
42. ਸੰਕ  ਿ੃ਰ੃ ਧਯਤੀ ਭਾਂ ਨੰੂ ਯਿੱ ਵਖਆ ਰਈ ਕ੅ਣ ਦੁਿਾਈ ਦੇਂਦਾ ਿ੄
(A) ਦੁਕਾਨਦਾਯ (B) ਭਯਦ
(C) ਿ਩ਾਯੀ (D) ਔਯਤਾਂ
43. ਉ਩ਯ੅ਕਤ ਩੄ਯਹ੃ ਦਾ ਢੁਿੱ ਕਿਾਂ ਵਸਯਰ੃ਖ ਚੁਣ੅
(A) ਧਯਤੀ ਨਾਰ ਆਦਾਨ-਩ਰਦਾਨ (B) ਫਨਸ਩ਤੀ ਨਾਰ ਵਖਰਿਾੜ
(C) ਉ਩ਯ੅ਕਤ ਦ੅ਿੇਂ (D) ਧਯਤੀ ਦੀ ਿਵਡਆਈ
44. ਿਰ ਿਾਿੁਣ ਜਾਂ ਫੀਜ ਫੀਜਣ ਸਭੇਂ ਧਯਤੀ ਦੀ ਩ੂਜਾ ਵਕਿੇਂ ਕੀਤੀ ਜਾਂਦੀ ਿ੄
(A) ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਵਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃, ਕ੆ਡੀਆਂ ਦ੃ ਕ੃ (B) ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਿੱ ਝ ਯ੅ੜੀਆਂ ਨਾਰ
(C) ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ ਨਾਰ ਬੇਂ  ਕਯ ਕ੃ (D) ਦੁਿੱ ਧ ਦੀਆਂ ਧਾਯਾਂ ਭਾਯ ਕ੃
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45. ਩੄ਯਹ੃  ਵਿਿੱ ਚ ਆ਋ ‘ਆਜੜੀ’ ਸ਼ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਿੀਯ੃ ਜਿਾਿਯਾਤ ਦਾ ਕੰਭ ਕਯਨ ਿਾਰਾ (B) ਫਿੁਤ ਵਦਰ ਅਜੀਜ ਤ੃ ਇਿੱ ਜ਼ਤ ਆਫਯੂ ਿਾਰਾ
(C) ਬ੃ਡਾਂ, ਫਕਯੀਆਂ ਜਾਂ ਊਂਠ ਚਾਯਾਂ ਿਾਰਾ (D) ਸਯਕਾਯੀ ਕਯਭਚਾਯੀ
46. ‘ਧਯਤੀ’ ਸ਼ਫਦ ਦਾ ਵਿ਩ਯੀਤ ਵਰੰਗ -
(A) ਚੰਨ (B) ਸੂਯਜ
(C) ਅਕਾਸ਼ (D) ਿੁੰ ਦਾ ਿੀ ਨਿੀ
47. ਵਕਸ ਛੰਦ ਦ੃ ਤੁਕਾਂਤ ਭ੃ਰ ਨੰੂ ਅਯਫੀ-੝ਾਯਸੀ ਸ਼ਫਦਾਿਰੀ ਵਿਿੱਚ ਕਾ੝ੀਆ-ਯਦੀ੝ ਵਕਿਾ ਜਾਂਦਾ ਿ੄ ?
(A) ਦ੅ਿਯਾ (B) ਸ੅ਯਠਾ
(C) ਫੈਂਤ (D) ਚ੆਩ਈ
48. “਩ੂਯਨ ਅਯਥਾਂ ਦਾ ਸੰਚਾਯ ਕਯਨ ਿਾਰ ਸ਼ਫਦ ਸਭੂਿ ਿਾਕ ਕਵਿਰਾਉਂਦਾ ਿ੄” ਕਥਨ ਿ੄   
(A) ਿਯਕੀਯਤ ਵਸੰਘ (B) ਫਰੂਭ ਪੀਰਪ
(C) ਩ੀ. ਗ੄ਯੀ (D) ਩ਤੰਜਰੀ
49. ਗੁਯਭੁਖੀ ਦ੃ ਵਕੰਨੇ ਅਿੱ ਖਯਾਂ ਨਾਰ ਸਾਯੀਆਂ ਰਗਾਂ ਭਾਤਯਾਂ ਦੀ ਿਯਤੋਂ ਨਿੀ ਕੀਤੀ ਜਾ ਸਕਦੀ
(A) ਵਤੰਨ (B) ਇਿੱਕ
(C) ਦਿੱ ਸ (D) ਦ੅
50. ਵਘਉ ਦ੃ ਦੀਿ੃ ਫਾਰਣ੃’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄
(A) ਅਿੱਗ ਰਾਉਣੀ (B) ਵਘਓ ਸਾੜਨਾ
(C) ਖੁਸ਼ੀਆਂ ਭਨਾਉਣੀਆਂ       (D) ਚਾਨਣ ਕਯਨਾ
ਵਨਰ ੃ਸ਼ : ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪ੄ਰ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਵ ਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (51 ਤੋਂ 55)  ੃ ਉੱਤਰ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਵ ਓ:

ਇਵਤਿਾਸ ਇਸ ਗਰ ਦਾ ਗਿਾਿ ਿ੄ ਵਕ ਜਦ ਿੀ ਦ੃ਸ਼ ’ਤ੃  ਭੁਸੀਫਤ ਫਣੀ, ਇਿੱ ਥ੃ ਦ੃ ਿਾਸੀਆਂ ਨੇ ਿ੄ਯੀਆਂ 
ਨਾਰ ਚੰਗਾ ਰ੅ਿਾ ਵਰਆ। ਗੁਯੂ ਗ੅ਵਫੰਦ ਵਸੰਘ ਜੀ ਨੇ ਕ੃ਿਰ ਨੋਂ  ਸਾਰ ਦੀ ਉਭਯ ਵਿਿੱਚ ਆ਩ਣ੃ ਵ਩ਤਾ ਗੁਯੂ ਤ੃ਗ ਫਿਾਦੁਯ 
ਸਾਵਿਫ ਨੰੂ ਵਿੰਦੂ ਧਯਭ ਦੀ ਯਿੱ ਵਖਆ ਰਈ ਸ਼ਿੀਦੀ ਦ੃ਣ ਦੀ ਆਵਗਆ ਦ੃ ਵਦਿੱ ਤੀ ਤ੃ ਫਾਅਦ ਵਿਿੱਚ ਆ਩ਣਾ ਸਯਫੰਸ ਤਕ ਿਾਯ 
ਵਦਿੱ ਤਾ। ਫੰਦਾ ਫਿਾਦਯ ਨੇ ਸਯਵਿੰਦ ਦੀ ਇਿੱ   ਨਾਰ ਇਿੱ  ਿਜਾ ਵਦਿੱ ਤੀ। ਭਿਾਯਾਣਾ ਩ਰਤਾ਩ ਨੇ ਭੁਗਰ ਸਭਯਾ  ਅਕਫਯ ਦੀ 
ਈਨ ਨਾ ਭੰਨੀ। ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਵਸੰਘ ਨੇ ਖ੃ਯੂੰ -ਖ੃ਯੂੰ  ਿ੅਋ ਩ੰਜਾਫੀਆਂ ਨੰੂ ਇਕਭੁਿੱ ਠ ਕਯਕ੃ ਩ੰਜਾਫ ’ਤ੃ ਩ੰਜਾਫੀਆਂ ਦਾ 
ਯਾਜ ਕਾਇਭ ਕਯ ਵਦਿੱ ਤਾ। ਬਗਤ ਵਸੰਘ ਤ੃ ਉਸਦ੃ ਸਾਥੀਆਂ ਨੇ ਿਿੱ ਸ-ਿਿੱ ਸ ਕ੃ ਪਾਂਸੀ ਦ੃ ਯਿੱ ਸ੃ ਆ਩ਵਣਆਂ ਗਵਰਆਂ ਵਿਿੱਚ 
਩ਿਾ਋। ਰਾਰਾ ਰਾਜ਩ਤ ਯਾ਋ ਨੇ ਪਯੰਗੀਆਂ ਦੀਆਂ ਡਾਂਗਾ ਖਾਂਵਦਆਂ ਆ਩ਣਾ ਆ਩ਾ ਵਨਛਾਿਯ ਕਯ ਵਦਿੱ ਤਾ। ਜਨਯਰ ਡਾਇਯ 
ਤੋਂ ਫਦਰਾ ਰ੄ਣ ਰਈ ਸ: ਉਧਭ ਵਸੰਘ ਨੇ ਅੰਗਯ੃ਜਾਂ ਨੰੂ ਨਾਨੀ ਚ੃ਤ੃ ਕਯਿਾ ਵਦਿੱ ਤੀ। ਸ: ਕਯਤਾਯ ਵਸੰਘ ਸਯਾਬਾ ਨੇ ਅੰਗਯ੃ਜਾਂ 
ਦੀ ਨੀਂਦ ਿਯਾਭ ਕਯ ਵਦਿੱ ਤੀ। ਦ੃ਸ਼ ਩ਰਤੀ ਕੁਯਫਾਨੀਆਂ ਦ੃ਣ ਵਿਿੱਚ ਸਾਡੀਆਂ ਔਯਤਾਂ ਿੀ ਵ਩ਿੱ ਛ੃ ਨਿੀਂ ਯਿੀਆਂ-ਫੀਫੀ 
ਗੁਯਸ਼ਯਨ ਕ੆ਯ, ਯਾਣੀ ਝਾੰਸੀ ਤ੃ ਯਾਣੀ ਸਾਵਿਫ ਕ੆ਯ ਨੇ ਿ੄ਯੀਆਂ ਨੰੂ ਵਦਨੇ ਤਾਯ੃ ਵਦਖਾ ਵਦਿੱ ਤ੃। ਵ਩ਿੱ ਛ੃ ਵਜਿ੃ ਿ੅ਈ ਕਾਯਵਗਰ ਦੀ 
ਰੜਾਈ ਵਿਿੱਚ ਵਿਸ਼੃ਸ਼ ਕਯਕ੃ ਬਾਯਤੀ ਪ੆ਜ ਤ੃ ਸਭੂਚ੃ ਬਾਯਤੀਆਂ ਨੇ ਩ਾਵਕਸਤਾਨ ਨੰੂ ਩ਛਾੜ ਕ੃ ਦਿੱ ਸ ਵਦਿੱ ਤਾ ਵਕ ਬਾਯਤੀਆਂ 
ਵਿਿੱਚ ਦ੃ਸ਼-ਵ਩ਆਯ ਦਾ ਜਜਫਾ ਆ਩ਣ੃ ਩ੂਯ੃ ਜ੅ਫਨ ਤ੃ ਿ੄ । ਉਿ ਜਾਤ-਩ਾਤ, ਯੰਗ-ਯੂ਩ ਅਤ੃ ਊਚ-ਨੀਚ ਦ੃ ਵਿਤਕਵਯਆਂ ਤੋਂ 
ਫਯੀ ਿੁੰ ਦ੃ ਿਨ। ਉਿ ਧਯਭ, ਫ੅ਰੀ, ਩ਰਾਂਤ ਤ੃ ਖ੃ਤਯ ਦ੃ ਸ੆ੜ੃ ਵਿਚਾਯਾਂ ਤੋਂ ਉੱ਩ਯ ਿੁੰ ਦ ਿਨ। ਉਿ ਆ਩ਣਾ ਸਿਾਯਥ ਬੁਿੱ ਰ ਕ੃ 
ਦ੃ਸ਼ ਰਈ ਿਯ ਕੁਯਫਾਨੀ ਕਯਨ ਰਈ ਵਤਆਯ-ਫਯ-ਵਤਆਯ ਯਵਿੰਦ੃ ਿਨ। 
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51. ਦ੃ਸ਼ ਬਕਤ ਕ੅ਣ ਨਿੀ ਿ੅ ਸਕਦਾ-
(A) ਸੁਆਯਥੀ (B) ਜਾਤ ਩ਾਤ ਵਿਿੱਚ ਵਿਸ਼ਿਾਸ ਨਾ ਯਿੱ ਖਨ ਿਾਰਾ
(C) ਿ੄ਯੀਆਂ ਨਾਰ  ਿੱ ਕਯ ਰ੄ਣ ਿਾਰਾ (D) ਭ੆ਤ ਦੀ ਩ਰਿਾਿ ਨਾ ਕਯਨ ਿਾਰਾ
52. ਵਕਿੜ੃ ਸੁਤੰਤਯਤਾ ਸੰਗਯਾਭੀ ਨੇ ਅੰਗਯ੃ਜਾਂ ਰਈ ਭੁਸ਼ਵਕਰਾਂ ਖੜਹੀਆਂ ਕਯ ਵਦਿੱ ਤੀਆਂ ਸਨ ।
(A) ਸ਼ਿੀਦ ਉਧਭ ਵਸੰਘ ਨੇ (B) ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਵਸੰਘ ਨੇ
(C) ਕਯਤਾਯ ਵਸੰਘ ਸਯਾਬਾ ਨੇ (D) ਜਨਯਰ ਡਾਇਯ ਨੇ
53. ਩੄ਯਹ੃ ਵਿਿੱ ਚ ਆ਋ ਸ਼ਫਦ ‘਩ਛਾੜ ਕ੃’ ਦਾ ਕੀ ਅਯਥ ਿ੄
(A) ਿਯਾ ਕ੃ (B) ਿਾਯ ਖਾ ਕ੃
(C) ਈਨ ਭੰਨ ਕ੃ (D) ਗ੅ਡ੃  ੃ਕ ਕ੃  
54. ਉ਩ਯ੅ਕਤ ਩੄ਯ੃ ਦਾ ਢੁਕਿਾਂ ਵਸਯਰ੃ਖ ਦਿੱ ਸ੅ ।
(A) ਰੜਾਈ (B) ਦੁਸ਼ਭਨੀ
(C) ਦ੃ਸ਼-ਵ਩ਆਯ (D) ਿ੄ਯ-ਵਿਯ੅ਧ
55. ਩੄ਯਹ੃ ਵਿਿੱ ਚ ਆ਋ ਸ਼ਫਦ ‘ਖ੃ਯੂੰ -ਖ੃ਯੂੰ ’ ਸ਼ਫਦ ਿ੄
(A) ਅਗ੃ਤਯ (B) ਵ਩ਛ੃ਤਯ
(C) ਵਿਯ੅ਧੀ ਸ਼ਫਦ (D) ਸਭਾਸੀ ਸ਼ਫਦ
56. ‘ਜਜਫਾ’ ਸ਼ਫਦ ਦਾ ਸਭਾਨਾਯਥੀ ਿ੄
(A) ਰੜਾਈ (B) ਭੁਿਿੱ ਫਤ
(C) ਿਰਿਰਾ (D) ਦ੃ਸ਼ ਵ਩ਆਯ
57. ‘ਘ’ ‘ਝ’ ‘ਢ’ ‘ਧ’ ‘ਬ’ ਅਤ੃ ‘ਿ’ ਿਨ –
(A) ਖਵਿਿੇਂ ਵਿਅੰਜਨ (B) ਗੂੜ ਵਰ਩ਾਂਕ
(C) ਸਯਕਿੇਂ ਵਰ਩ਾਂਕ (D) ਩੄ਯ ਵਫੰਦੀ ਵਰ਩ਾਂਕ
58. ਯਸਾਂ ਦਾ ਯਾਜਾ ਕਵਿਰਾਉਂਦਾ ਿ੄
(A) ਵਸ਼ੰਗਾਯ (B) ਿੀਯ
(C) ਯ੅ਦਯ (D) ਿਾਸ
59. ‘ਭੁਿਾਿਯਾ’ ਸ਼ਫਦ  ਵਕਿੜੀ ਬਾਸ਼ਾ ਦਾ ਿ੄?
(A) ਸੰਸਵਕਰਤ (B) ਦ੃ਸੀ
(C) ਅਯਫੀ (D) ਅੰਗਯ੃ਜੀ
60. "ਵਦਰ ਦ੃ ਕ੃ ਵਿਵਦਆ ਩ੜਹ੅, ਗੁਣ ਇਸ ਵਜਿਾ ਨ ਿ੅ਯ l
ਵਿਵਦਆ ਫਾਝ ਭਨੁਿੱ ਖ ਿ੄, ਸਚਭੁਚ ਡੰਗਯ ਢ੅ਯ।”   ਸਤਯਾਂ ਵਿਿੱਚ ਿਯਵਤਆ ਛੰਦ ਿ੄
(A) ਦ੅ਿਯਾ (B) ਸ੅ਯਠਾ
(C) ਫੈਂਤ (D) ਸਾਯ੃ ਿੀ
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ખંડ – II 

ભાષા – I 

ગુજરાતી 

આ ખંડમા ંકુલ ૩૦Ṕὴનો છે. 

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે. 

31. િવὸાથὁનાં સવાὑગી િવકાસ માટ ેશું જἙરી છે  ?

(A) સાḚંકૃિતક Ṕવૃિતઓ  (B) ઉ᷿ચ-ક᷵ાનો અḑયાસṀમ

(C) રમત – ગમતની Ṕવૃિήઓ (D) ઉપરનાં બધા જ

32. િવὸાથὁના મḕૂયાંકનની ṝે὾ Ṕḋધિત કઈ છે ?

(A) માિસક મḕૂયાકંન  (B) અશા᷷વાἿશક મḕૂયાકંન

(C) વાἿષક મḕૂયાકંન (D) સતત મḕૂયાકંન

33. લેખનકાય᷷ દરિમયાન કઈ બાબતોનું Ḍયાન રાખવંુ જἙરી છે ?

જોડણી (B) િવરામિચḛન (C) ḗયાકરણ (D) ઉપરો᷺ત બધી જ 

34. બાળકમાં કયું કૌશḕય સૌથી છેḕલે િવકસે છે ?
(A) ṝવણ (B) લેખન  (C) કથન (D) વાંચન

35. શેના િશ᷵ણમાં શૈ᷵ િણક સાધન સૌથી ઓછંુ વાપરવંુ જોઈએ ?

(A) ḗયાકરણ (B) પὸ  (C)  કિવ પἵરચય (D) ગὸ

36. પાḅયપુḚતકમાં નીચેનામાંથી કઈ બાબતનો સમાવેશ થઇ શકે ?

(A) ચાટ᷷ (B) િચṏ (C) ભἸતપṏ (D) મોડેલ

37. નીચેનામાથંી શેની Ṕવૃિή બાળકમા ંસૌથી પહેલા કરાવવાથી બાળક ભાષા શીખશે ?

(A)વાચંન (B) લેખન (C) કથન (D) ṝવણ

(31)ST-2 A

P.T.O.

https://www.print-driver.com/?demolabel-en


38. મḕૂયાંકનનો કયો હેતુ સૌથી મહḉવનો છે ?

(A) ભાષા᷶ાનની ચકાસણી (B) હેતુઓની િસિḋધ

(C) િવષયવḚતુનું ᷶ાન (D) િશ᷵કની કુશળતા

39. ‘કથન કૌશḕય’માં નીચેનામાંથી કી બાબતનો સમાવેશ થતો નથી ?

(A) હાવભાવ (B) શḐદ ઉપર ભાર (C) આરોહ-અવરોહ (D) સુંદર હḚતા᷵ર

નીચે આપેલ પὸાંશના આધારે ṔὴનẄમાંક 40 થી 45 Ṕὴનોના જવાબ આપો : 

મનેમારીભાષાગમેછેકારણબાનેહંુબાકહીશકુંછંુ. 

‘મḒમી’ બોલતાતોહંુશી᷻યોછેકપાંચમાંધોરણમાં.  

તἵેદવસેખબૂરોફથીવાઘમાયὅહોયએમમἹ ‘મḒમી’ કહીનેબૂમપાડલેી. 

બાḉયારેસહેજહસેલી–કારણબાએકસાદંુપોḚટકાડ᷷પણમાંડમાડંલખીશ᷺તી. 

બાબḍેકમાંસંવીસકરવા᷺યારેગઈનહોતીઅનેરાṏે ‘ લાયḍસ’ પાટὁમાંગઈહોયએવુંયાદપણનથી. 

40. કિવને શું ગમે છે ?

(A) નોકરી (B) બા (C) મḒમી (D) ભાષા

41. કિવના બા શું માંડમાંડ લખી શકતા ?

(A) પṏ (B) પોતાનું નામ (C) પોḚટકાડ᷷ (D) સાદંુ પોḚટકાડ᷷

42. “કિવને પોતાની માતૃભાષાના કારણે શું ગમે છે ?

(A) મḒમી (B) પાટὁ (C) બા (D) સἿવસ

43. કિવ ᷺યા ધોરણમાં ‘મḒમી’ બોલતા શી᷻યો ?

(A) પાંચ (B) ṏણ (C) ચાર (D) સાત

44. ‘માડંમાડં’માં કયુὑ સἽદય᷷ છે ?

(A) ભાવ સἽદય᷷ (B) નાદ સἽદય᷷ (C) ḋવીἘ᷺ત સἽદય᷷ (D) િવચાર સἽદય᷷

45. ‘મોિનકા ગાય છે ḁયારે િનમેશ વાંચે છે’  એ કેવા Ṕકારનું વા᷺ય છે ?

(A) સાદંુ વા᷺ય  (B) પૂણ᷷ વા᷺ય (C) સયુ᷺ ય વા᷺ય (D)  િવિધ વા᷺ય
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46. ‘પἵરણીત’ શḐદમાં વપરાયેલ Ṕḉયાય ઓળખો.

(A) પἵર (B) ઈત (C) ઇત  (D) અણીત

47. ખોટી જોડણી ધરાવતો શḐદ શોધો.

(A) િશિબર (B) નીરોગી (C) પἵર᷵ા (D) Ṕામાિણક

48. ‘ િચતા’ શḐદનો અથ᷷ જણાવો.

(A) ἵફકર (B) ચેહ (C) િવચાર (D) Ḛમરણ

49. િનદાન ṔἵṀયામાં સૌṔથમ કઈ બાબતનો સમાવેશ થાય છે ?

(A) ભૂલ ᷺યારે કરે છે ? (B) ભૂલ શા માટે કરે છે ? (C) ભૂલ કોણ કરે છે ? (D) ભૂલ ᷺યા થાય છે ?

50. મḕૂયાંકન ḋવારા શું માપન થવું જોઈએ ?

(A) િવὸાથὁની બુિḋધ (B) શૈ᷵િણક હેતુ (C) િવષયવḚતુ (D) િવὸાથὁની યાદશિ᷺ત

51. વગ᷷ખંડમા ંિશ᷵ણનાં મુ᷻ ય અંગો ᷺યા છે ?

(A) મḕૂયાકંન (B) વગ᷷ ḗયવḚથા (C) વગ᷷ િશ᷵ણ કાય᷷ (D) ઉપરના બધા

52. પૂવ᷷᷶ાનનો ઉપયોગ ᷺યા કૌશḕયમાં કરવામાં આવે છે ?

(A) ઉદાહરણ (B) િવષયાિભમુખ (C) Ḛપὼીકરણ (D) Ṕὴન Ṕવાિહતા

53. કયું સમાનથὁ જોડકું સાચું છે ?

(A) કાગ, રઢ (B) લત, કાક (C) રીત, પḌધિત  (D) ἶનદા અને Ṕશંસા

54. ‘નીચેનામાથંી કઈ બાબત એક તાસમા ંિસḋધ કરી શકાય છે ?

(A) સામાḍય હેત ુ(B) િશ᷵ણનાં Ḍયેયો (C) િવિશὼ હેત ુ (D) િશ᷵ણના ંઉίેશો

55. બે ṏણ શાણા, બે ṏણ દાણા, પાંચ શાન રંગીલા જન, રહેતા નહἸ ḁયાં રહેશો નહἸ, ḉયા ંનાગર નહἸ એ
વગડોવન - કયો છંદ છે ?
(A) ઝૂલણા (B) હἵરગીત (C)સવૈયા (D) મનહર

56. દોહરાનાં બીἒ અને ચોથા ચરણમા કેટલી માṏા હોય છે.?

(A) ૧૩ (B)૧૧ (C) ૧૫ (D) ૧૪
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57. હથેળીમા ચાંદ બતાવવા એટલ ે..... 

(A) દીવાḚવḎનમાં રાચવું (B)છેતરવું(C) Ṕેમમા ંપડવું (D) વશીકરણ કરવું

58. સંધી જોડો - નદી + અḒબુની

(A) નાḌયાḒબુ (B) નાḌયાઅḒબ ુ(C)નધḒબુ (D) નાધાḒબુ

59. િવરામિચḍહોને Ḍયાનમાં રાખીને સાચું િવધાન શોધો.

(A) બાએ કύું, “ἒ-તું હવે અમારા લેણામાંથી છૂટો.” (B) બાએ કύું. “ ἒ,તું હવે અમારા લેણામાંથી છૂટો

(C) બાએ કύું. “ ἒ !તું હવે અમારા લેણામાંથી છૂટો (D) બાએ કύું -  ἒ,તું હવે અમારા લેણામાથંી છૂટો

60. મḕૂયાકંનમાં કઈ બાબતનો  સમાવેશ થાય છે ?

(A) ᷵મતા (B) Ḛતર િનધા᷷રણ ṔἵṀયા (C) ᷵મતાની ઉપલિḐધ આંક (D) ઉપરના બધા
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 
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66.

(A) (B) 

(C) (D) 

67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 

70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) o (D) ^
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73.

(A) (B) 

(C) (D) 

74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 

79.

1. i. 

2. ii. 

3. iii. 

4. iv. 

1 2 3 4

(A) ii iv iii i

(B) iv i ii iii

(C) i ii iii iv

(D) iii iv ii i

80.

(A) (B) 

(C) (D) 
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81.

(A) (B) 

(C) (D) 

82.

(A) (B) 

(C) (D) 

83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) 

(B) 

(C) 

(D) 

88.

(A) (B) 

(C) (D) 

89.

(A) (B) 

(C) (D) 

90.

(A) (B) 

(C) (D) 
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SECTION-III

LANGUAGE - II

ENGLISH

There are 30 questions all this section.

All questions are compulsory.

Direction (61-65) : Read the following passage carefully and answer the questions given below :

Cricket grew out of the many stick and ball games played in England 500 years ago. The word ‘bat’ is an

old English word that simply means stick or club. By the seventeenth century, cricket had evolved enough

to be recognisable as a distinct game. Till the middle of the eighteenth century, bats were roughly the

same shape as hockey sticks, curving outwards at the bottom. There was a simple reason for this: the

ball was bowled underarm, along the ground and the curve at the end of the bat gave the batsman the best

chance of making contact. “One of the peculiarities of cricket is that a Test match can go on for five

days and still end in a draw. No other modern team sport takes even half as much time to complete. A

football match is generally over in an hour-and-a-half. Even baseball completes nine innings in less than

half the time that it takes to play a limited-overs match, the shortened version of modern cricket !

61. There was a simple reason for this: the ball was bowled underarm, along the ground  and the curve at the

end of the bat gave the batsman the best chance of making contact. Linking device and in the sentence

expresses -

(A) sequence (B) contrast

(C) result (D) condition

62. Nine innings of baseball.....completed in less than 3 hours.

(A) is (B) are

(C) has (D) have

63. One of the strange things of cricket........a harsh reality of Test matches.

(A) show (B) shows

(C) are showing (D) have shown

64. Which sport is considered the shortened version of cricket?

(A) Hockey (B) Football

(C) Baseball (D) Stick & Ball
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65. The first sentence of this extract has-

(A) fallacy of authority (B) fallacy of hasty generalization

(C) fallacy of division (D) None

Direction (66-70) : Read the following Poem carefully and answer the questions given below :

Peering through the drape

Of my synthetic cell,

How I long to escape

This paralyzing hell.

Like a bruised, little bird

Too confused to fly,

I'm trapped, in a word,

So confined am I.

A captive, collared lion

Alone in its pen,

I'm pacin' and dyin'

In a manmade den.

For an eagle was not meant

To be locked in a cage,

Its life to be spent

Like a picture on a page.

66. The rhyme scheme in the poem is-

(A) abba (B) abab

(C) baab (D) bacd

67. A captive,collared lion is an example of-

(A) simile (B) metaphor

(C) alliteration (D) assonance

68. Like a bruised,little bird is an example of-

(A) simile (B) alliteration

(C) assonance (D) personification
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69. This paralyzing hell can be example of-

(A) metaphor (B) assonance

(C) personification (D) alliteration

70. Eagle's life has been compared with -

(A) page (B) cage

(C) picture (D) lock

71. You must not smoke here.Here 'must not' expresses-

(A) permission (B) prohibition

(C) inability (D) probability

72. "The salt of the Earth" means -

(A) To expect something in return (B) Very good & honest/kind

(C) To support someone (D) Neat and clean

73. Which of the following is not a type of sonnet?

(A) English sonnet (B) Italian sonnet

(C) Draconian sonnet (D) Petrarchan sonnet

74. What is drama?

(A) Trouble caused by friends

(B) The written words and directions for actors to follow

(C) The characters that perform in a play

(D) A story that is written to be performed or acted out

75. An elegy is a poem about…

(A) Love (B) Death

(C) Heroism (D) All of the above

76. Semi vowels are-

(A)/w/ and /j/ (B)/t  / and /Z /

(C) /t/ and /Z / (D) None of these

77. Which of the following is not the Plosive ?

(A) /k/ (B) /d/

(C) /p/ (D) /s/
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78. How many fricatives are there in RP ?

(A) 8 (B) 9

(C) 10 (D) 15

79. Which of the following word does not have /f/ sound ?

(A) Of (B) Phone

(C) Few (D) Off

80. How many vowels are in English?

(A) 12 (B) 05

(C) 08 (D) 20

81. Lingua Franca means a.....language.

(A) native (B) foreign

(C) optional (D) mediating

82. The deductive method of teaching is-

(A) theory to practice (B) example to rule

(C) concrete to abstract (D) knowledge to comprehension

83. Multilingualism occurs due to-

(A) learning has become multi purpose

(B) teachers visiting a multi nation

(C) learners trying to speak a multi language

(D) multi culture assimilating at a place

84. The everyday interaction of a family takes place in-

(A) lingua franca (B) home language

(C) school language (D) instructional language

85. Dyslexia is a language disorder of-

(A) speaking (B) reading

(C) writing (D) listening
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86. Round Robin Chart is a-

(A) formative evaluation (B) performance test

(C) diagnostic test (D) summative evaluation

87. Which of the following term is related to statistical concept -

(A) Objectivity (B) Reliability

(C) Validity (D) Fairness

88. Evaluation is aimed at -

(A) the learning process (B) the teaching efficiency

(C) the methodological applicability (D) all of these

89. The slow learners can be called -

(A) junior learners (B) special learners

(C) backward learners (D) ordinary learners

90. Remedial teaching doesn't impart -

(A) passivism (B) creativity

(C) optimism (D) confidence
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 
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66.

(A) (B) 

(C) (D) 

67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 

70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) (D) 
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73.

(A) (B) 

(C) (D) 

74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 

79.

(A) (B) 

(C) (D) 

80.

(A) (B) 

(C) (D) 

81.

(A) (B) 

(C) (D) 
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82.

(A) (B) 

(C) (D) 

83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) (B) 

(C) (D) 

88.

(A) (B) 

(C) (D) 

89.

(A) (B) 

(C) (D) 

90.

(A) (B) 

(C) (D) 
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ਖੰਡ-III 
ਭਾਸ਼ਾ- Il 
ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l 
ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

61. ਷ੀਨੀਅਯ ਷੄ਕੇਂਡਯੀ ਩ੱਧਯ ਤ੃ ਩ੜ੍ਹਨ ਦਾ ਆਦਯਸ਼ ਯੂ਩ ਕੀ ਸ੄ ?
(A) ਫ੅ਰ-ਫ੅ਰ ਕ੃ ਩ੜ੍ਹਨਾ (B) ਤ੃ਜੀ ਨਾਰ ਤ੃ ਉੱਚੀ ਩ੜ੍ਹਨਾਂ
(C) ਭ੅ਨ ਵਾਚਨ (D) ਷ਭੂਹਸਕ ਵਾਚਨ
62. ਅਨੂਹਰ਩ੀ ਅਤ੃ ਩ਰਤੀਹਰ਩ੀ ਹਕ਷ ਬਾਸ਼ਾ ਕ੆ਸ਼ਰ ਨਾਰ ਷ੰਫਹਧਤ ਸਨ-
(A) ਷ੁਣਨ ਕ੆ਸ਼ਰ (B) ਹਰਖਣ ਕ੆ਸ਼ਰ
(C) ਭ੆ਹਖਕ ਩ਰਗਟਾਅ (D) ਩ੜ੍ਹਨ ਕ੆ਸ਼ਰ
63. ਗਰਤ ਕਥਨ ਚੁਣ੅ -
(A) ‘ਸ’ ਅੱਖਯ ਦੁੱ ਤ ਅਤ੃ ਷ੁਯਮੰਤਯੀ ਸ੄ l
(B) ‘ਯ’ ਅੱਖਯ ਦੁੱ ਤ ਅਤ੃ ਕੰਫਵਾਂ ਸ੄ l
(C) ਌, ਋, ਍, ਉ ਅਤ੃ ਊ ਗੁਰਾਈਦਾਯ ਷ਵਯ ਧੁਨੀਆਂ ਸਨ l
(D) ਅਨੁਨਾਹ਷ਕ ਅੱਖਯਾਂ ਹਵਚੋਂ ਹਤੰਨ ਅੱਖਯ ਹਕ਷੃ ਵੀ ਸ਼ਫਦ ਦ੃ ਸ਼ੁਯੂ ਹਵੱਚ ਨਸੀ ਵਯਤ੃ ਜਾਂਦ੃ l
64. ਗੁਯਭੁਖੀ ਦ੃ ਹਕੰਨੇ ਅੱਖਯਾਂ ਨਾਰ ਷ਾਯੀਆਂ ਰਗਾਂ ਭਾਤਯਾਵਾਂ ਦੀ ਵਯਤੋਂ ਨਸੀ ਕੀਤੀ ਜਾ ਷ਕਦੀ-
(A) ਹਤੰਨ (B) ਇੱਕ
(C) ਦੱ਷ (D) ਦ੅
65. ‘ਚੱਹਿਆਂ ਦੀ ਵਾਯ’ ਹਕ਷ ਨੇ ਹਰਖੀ-
(A) ਩ੀਯ ਭੁਸੰਭਦ (B) ਨਜਾਫਤ ਨੇ
(C) ਬਾਈ ਗੁਯਦਾ਷ ਜੀ ਨੇ (D) ਇਸਨਾਂ ਹਵਚੋਂ ਕ੅ਈ ਨਸੀ
66. “ਵਾਕ ਬਾਸ਼ਾ ਦੀ ਷ੁਤੰਤਯ ਇਕਾਈ ਸ੄, ਜ੅ ਆ਩ਣੀ ਹਵਆਕਯਣਕ ਹਵਸ਼੃ਸ਼ਤਾ ਕਾਯਣ ਹਕ਷੃ ਸ੅ਯ ਵੱਡੀ ਇਕਾਈ ਦ੃ ਅਧੀਨ

ਨਸੀਂ ਸੁੰ ਦੀ।“ ਇਸ ਕਥਨ ਹਕ਷ਦਾ ਸ੄-
(A) ਸਯਕੀਯਤ ਹ਷ੰਘ (B) ਫਰੂਭ ਪੀਰਪ
(C) ਩ੀ. ਗ੄ਯੀ (D) ਩ਤੰਜਰੀ
67. ਩ਯਨੀਤ ਨੇ ‘਩ੰਜਾਫੀ ਹਵਆਕਯਨ ਅਤ੃ ਹ਷ੱਹਖਆ ਹਵਧੀਆਂ’ ਨਾਂ ਦੀ ਹਕਤਾਫ ਩ੜ੍ਹੀ l ਵਾਕ ਦਾ ਩ਰਕਾਯ ਚੁਣ੅-
(A) ਷ਧਾਯਨ (B) ਷ੰਮੁਕਤ
(C) ਹਭਸ਼ਯਤ (D) ਗੁੰ ਝਰਦਾਯ
68. ਷ੀ. ਷ੀ. ਈ. ਹਵੱਚ ਹਕੰਨੇ ਭੁਖ਼ ਤੱਤ ਸਨ-
(A) ਇੱਕ (B) ਦ੅   
(C) ਹਤੰਨ (D) ਚਾਯ

(52)ST-2 A

P.T.O.

https://www.print-driver.com/?demolabel-en


69. ਗਰਤ ਕਥਨ ਚੁਣ੅-
(A) ਬਾਈ ਕਾਨਹ  ਹ਷ੰਘ ਨਾਬਾ ਜੀ ਕਾਪੀ ਨੰੂ ‘ਯਾਗਨੀ’ ਭਨਦ੃ ਸਨ l
(B) ਡਾ. ਦੀਵਾਨ ਹ਷ੰਘ ਕਾਪੀ ਨੰੂ ‘ਗਜਰ ਦੀ ਯੀ਷੅ ਯੀ਷ ਫਹਣਆ ਸ੅ਇਆ ਛੰਦ’ ਭਨਦ੃ ਸਨ l
(C) ਗੁਰਾਭ ਪਯੀਦ ਨੇ ਷ਬ ਤੋਂ ਵੱਧ 171 ਕਾਪੀਆਂ ਦੀ ਯਚਨਾ ਕੀਤੀ l
(D) ਕਾਪੀ ਷ੂਪੀਆਂ ਦੀ ਕਵਾਰੀ ਦਾ ਷ੰਖ੃਩ ਤ੃ ਷ਯ੅ਦੀ ਕਾਹਵ ਯੂ਩ ਸ੄ l
70. "ਹਦਰ ਦ੃ ਕ੃ ਹਵਹਦਆ ਩ੜ੍ਹ੅, ਗੁਣ ਇ਷ ਹਜਸਾ ਨ ਸ੅ਯ l
ਹਵਹਦਆ ਫਾਝ ਭਨੱੁਖ ਸ੄, ਷ਚਭੁਚ ਡੰਗਯ ਢ੅ਯ।”   ਷ਤਯਾਂ ਹਵੱਚ ਵਯਹਤਆ ਛੰਦ ਸ੄
(A) ਦ੅ਸਯਾ (B) ਷੅ਯਿਾ
(C) ਫੈਂਤ       (D) ਷ਾਯ੃ ਸੀ
ਵਨਰਦ੃ਸ਼:ਪ੄ਰ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਉਸ ਹ੃ਠਾਂ ਵਦਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (71-75) ਤਕ ਦ੃ ਢੁਿੱ ਕ ੇਂ ਉੱਤਰ ਵਦਓ।

਩ੰਜਾਫ ਦੀ ਹਜੰਦਗੀ ਩ੇਂਡੂ ਹਜੰਦਗੀ ਸ੄ ਤ੃ ਷ਾਡੀ ਯਹਸਣੀ-ਫਹਸਣੀ ਤ੃ ਬਾਈਚਾਯਕ ਸਾਰਤ ਇ਷ ਹਕ਷ਭ ਦੀ 
ਸ੄ ਹਕ ਭਯਦਾਂ ਤ੃ ਤਰੀਭਤਾਂ ਦਾ ਫਸੁਤ ਷ਾਯਾ ਷ਭਾਂ, ਖ੃ਤਾਂ ਹਵੱਚ ਜਾਂ ਘਯਾਂ ਹਵੱਚ, ਜਾਂ ਹ਩ੰਡ ਦੀ ਹਕ਷੃ ਫਾਸਯਵਾਯ ਨੁਕਯ੃ ਹਜੱਥ੃ 
਩ਾਣੀ ਦਾ ਛੰਬ ਸ੅ਵ੃ ਤ੃ ਹ਩਩ਰਾਂ ਫਯ੅ਹਟਆਂ ਦੀ ਷ੰਘਣੀ ਛਾਂ ਸ੅ਵ੃, ਍ਥ੃ ਰੰਘਦਾ ਸ੄। ਗਰੀਆਂ ਹਵੱਚ ਹਪਯ ਦ੃ ਸਨ ਭੰਗਤ੃, 
ਪਕੀਯ ਜਾਂ ਇੰਵਾਣ੃ ਫਾਰ, ਜਾਂ ਹਕਤ੃-ਹਕਤ੃ ਹਦਨ-ਹਦਸਾੜ੍੃, ਹਵਆਸ ਹਤਉਸਾਯ ਵ੃ਰ੃ , ਕੜੁ੍ੀਆਂ ਕੱਤਯੀਆਂ । ਇ਷ ਕਯਕ੃ 
਩ੰਜਾਫ ਦ੃ ਗੀਤ ਫਸੁਤ ਕਯਕ੃ ਜਾਂ ਖ੃ਤਾਂ ਹਵੱਚ ਗਾ਋ ਜਾਂਦ੃ ਸਨ ਤ੃ ਜਾਂ ਘਯਾਂ ਦ੃ ਅੰਦਯ । ਸੁਣ ਅ਷ੀਂ ਩ਾਿਕਾਂ ਦੀ ਵਾਕਪੀ 
ਹ਷ਯਪ ਉਨਹ ਾਂ ਗੀਤਾਂ ਨਾਰ ਸੀ ਕਯਵਾਂਦ੃ ਸਾਂ, ਹਜਸੜ੍੃ ਹਕ ਩ੰਜਾਫੀ ਹਸਯਦ੃ ਦ੃ ਧੁਯ ਅੰਦਯੋਂ ਹਨਕਰ ਕ੃ ਗਰੀਆਂ ਹਵੱਚ ਗਾ਋ 
ਜਾਂਦ੃ ਸਨ। ਩ਯ ਗਰੀਆਂ ਹਵੱਚ ਗਾ਋ ਜਾਣ ਵਾਰ੃ ਗੀਤਾਂ ਦਾ ਦਾਇਯਾ ਇਤਨਾ ਤੰਗ ਸ੄ ਹਕ ਇਨਹ ਾਂ ਤੋਂ ਩ੰਜਾਫੀ ਗੀਤਾਂ ਦੀ 
ਹਭਿਤ,ਹਵਸ਼ਾਰਤਾ ਤ੃ ਡੂੰ ਘਾਈ ਦਾ ਅਨੁਭਾਨ ਰਾਉਣਾ ਫਸੁਤ ਵੱਡੀ ਬੁੱ ਰ ਸ੅ਵ੃ਗੀ। 
71. ਇ਷ ਩੄ਯ੃ ਅਨੁ਷ਾਯ ਩ੇਂਡੂ ਰ੅ਕ ਹਕੱਥ੃ ਕੰਭ ਕਯਦ੃ ਸਨ ?
(A) ਗਰੀ ਭੁਸੱਹਰਆਂ ਹਵਚ (B) ਪ੄ਕਟਯੀਆਂ ਹਵਚ
(C) ਖ੃ਤਾਂ ਜਾਂ ਘਯਾਂ ਹਵਚ (D) ਸ਼ਹਸਯਾਂ ਹਵਚ
72. ਸ੃ਿ ਹਰਹਖਆਂ ਹਵਚੋਂ ਅਹਜਸਾ ਩ੁਹਰੰਗ ਸ਼ਫਦ ਚੁਣ੅ਹਜ਷ਦਾ ਇ਷ਤਯੀ ਹਰੰਗ ਨਸੀ ਸੁੰ ਦਾ-
(A) ਭੰਗਤਾ (B) ਭਯਦ
(C) ਩ਾਣੀ (D) ਫਾਰ
73. ਇ਷ ਩੄ਯ੃ ਦਾ ਢੁੱ ਕਵਾਂ ਹ਷ਯਰ੃ਖ ਚੁਣ੅-
(A) ਩ੰਜਾਫੀ ਷ਹਬਆਚਾਯ (B) ਖ੃ਤੀ ਫਾੜ੍ੀ
(C) ਭਯਦਾਂ ਤ੃ ਤਰੀਭਤਾਂ ਦਾ ਕਾਯ-ਹਵਸਾਯ (D) ਩ੇਂਡੂ ਹਜੰਦਗੀ
74. ਗਰੀਆਂ ਹਵਚ ਹਕਸ੅-ਹਜਸ੃ ਗੀਤ ਗਾ਋ ਜਾਂਦ੃ ਸਨ?
(A) ਬੰਗੜ੍੃ ਵਾਰ੃ (B) ਩ੱਛਭੀ ਧੁਨਾਂ ਵਾਰ੃
(C) ਩੆਩ ਗੀਤ (D) ਧੁਯ ਅੰਦਯੋਂ ਹਨਕਰਣ ਵਾਰ੃
75. ਉ਩ਯ੅ਕਤ ਩੄ਯ੃ ਹਵਚਰ੃ ਸ਼ਫਦ ‘ਦਾਇਯਾ’ ਦਾ ਷ਭਾਨਯਥਕ ਸ਼ਫਦ ਚੁਣ੃-
(A) ਚਕ੅ਯ (B) ਷ਭਾਂਨਾਂਤਯ
(C) ਘ੃ਯਾ (D) ਹਤਕ੅ਨ
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ਹ੃ਠ ਵਲਖ੃ ਕਾਵ -ਟ੅ਟ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (76 – 80 ਤਕ) ਦ੃ ਉੱਤਰ ਵਦਓ  
ਡਾਰੀ ਨਾਰੋਂ ਤ੅ ਤ੅ੜ੍ ਨ ਷ਾਨੰੂ,  
ਅ਷ਾਂ ਸੱਟ 'ਭਹਸਕ' ਦੀ ਰਾਈ  
ਰੱਖ ਗਾਸਕ ਜ੃ ਷ੁੰ ਘ੃ ਆਕ੃,  
ਖਾਰੀ ਕ੅ਇ ਨ ਜਾਈ, 
ਤੂੰ  ਜ੃ ਇੱਕ ਤ੅ੜ੍ ਕ੃ ਰ੄ ਹਗਓਂ,   
ਇਕ ਜ੅ਗਾ ਯਹਸ ਜਾ਷ਾਂ 
ਉਸ ਬੀ ਩ਰਕ-ਝਰਕ ਦਾ ਭ੃ਰਾ  
ਯੂ਩ ਭਹਸਕ ਨ਷ ਜਾਈ  
76. ਇਸ ਕਹਵਤਾ ਹਕ਷ ਦੀ ਯਚਨਾ ਸ੄ ?
(A) ਬਾਈ ਵੀਯ ਹ਷ੰਘ (B) ਸ਼ਾਸ ਸੁ਷੄ਨ
(C) ਦਭ੅ਦਯ (D) ਫੁਰਹ੃  ਸ਼ਾਸ
77. ਇ਷ ਕਹਵਤਾ ਹਵੱਚ ਹਕ਷ ਨੰੂ ਷ੰਫ੅ਹਧਤ ਕੀਤਾ ਹਗਆ ਸ੄?
(A) ਯੱਫ ਨੰੂ (B) ਹਕਯ਷ਾਨ ਨੰੂ
(C) ਪੱੁਰ ਤ੅ੜ੍ਨ ਵਾਰ੃ ਨੰੂ (D) ਪੱੁਰ ਨੰੂ
78. ਕਹਵਤਾ ਹਵੱਚ ਹਕਸੜ੍ੀ ਸ਼੄ਰੀ ਦੀ ਵਯਤੋਂ ਕੀਤੀ ਗਈ ਸ੄?
(A) ਸ਼ਾਂਤੀ ਵਾਰੀ (B) ਯਸ਷ ਵਾਰੀ
(C) ਭਾਨਵੀਕਯਨ ਵਾਰੀ (D) ਯੁਭਾਂ਷ ਵਾਰੀ
79. ਗੁਰਾਫ ਦਾ ਪੁੱ ਰ ਤ੅ੜ੍ਨ ਨਾਰ ਕੀ ਸ੅ਵ੃ਗਾ –
(A) ਭਹਸਕ ਹਜਆਦਾ ਦ੃ਯ ਤਕ ਨਸੀ ਯਸ੃ਗੀ (B) ਫਸੁਤ ਜਰਦੀ ਭੁਯਝਾ ਜਾਵ੃ਗਾ
(C) ਇਕ ਜਣ੃ ਨੰੂ ਭਹਸਕ ਦ੃ ਷ਕ੃ਗਾ (D) ਷ਾਯ੃ ਸੀ ਷ਸੀ
80. ਕਹਵਤਾ ਹਵੱਚ ਹਕਸੜ੍ੀ ਷ੁਯ ਦੀ ਵਯਤੋਂ ਕੀਤੀ ਗਈ ਸ੄?
(A) ਕੁਦਯਤ ਨਾਰ ਹ਩ਆਯ ਵਾਰੀ (B) ਹ਷ਹਖਆਦਾਇਕ
(C) ਉ਩ਯ੅ਕਤ ਦ੅ਵੇਂ ਸੀ (D) ਕ੅ਈ ਨਸੀ
81. ਖਹਸਵੇਂ ਹਵਅੰਜਨ ਸਨ –
(A) ਩, ਭ, ਵ (B) ਷, ਸ਼, ਸ
(C) ਷, ਡ, ਕ (D) ਚ,਩, ਜ
82. ਹਵਆ਩ਕ ਅਤ੃ ਹਨਯੰਤਯ ਭੁਰਾਂਕਣ ਦਾ ਉਰ੃ਖ ਸ੄
(A) ਕ੃ਵਰ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
(B) ਆਯ.ਟੀ. ਈ. 2009 ਅਤ੃ ਌ਨ. ਷ੀ, ਌ਪ. 2005 ਹਵੱਚ
(C) ਌ਨ ਈ ਩ੀ 1991ਅਤ੃ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
(D) ਌ਨ ਈ ਩ੀ 1991, ਌ਨ. ਷ੀ, ਌ਪ. 2005 ਅਤ੃ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
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83. ਹਕ਷ ਛੰਦ ਦ੃ ਤੁਕਾਂਤ ਭ੃ਰ ਨੰੂ ਅਯਫੀ-ਫ਼ਾਯ਷ੀ ਸ਼ਫਦਾਵਰੀ ਹਵੱਚ ਕਾਫ਼ੀਆ-ਯਦੀਫ਼ ਹਕਸਾ ਜਾਂਦਾ ਸ੄ ?
(A) ਦ੅ਸਯਾ (B) ਷੅ਯਿਾ
(C) ਫੈਂਤ (D) ਚ੆਩ਈ
84. ਷ਬ ਤੋਂ ਵੱਧ ਹਕੱ਷੃ ਹਕ਷ਨੇ ਹਰਖ੃
(A) ਫੁਰਹ੃  ਸ਼ਾਸ (B) ਸ਼ਾਸ ਸੁ਷੃ਨ
(C) ਅਹਸਭਾਦਯਾਯ (D) ਇਸਨਾਂ ਹਵਚੋਂ ਕ੅ਈ ਵੀ ਨਸੀ
85. ਹ਷ਹਖਆ ਷ਸਾਇਕ ਷ਭੱਗਯੀ ਹਵੱਚ ਹਕਹਯਆਤਭਕ ਷ਾਧਨ ਦਾ ਉਦਾਸਯਨ ਸ੄-
(A) ਯ੃ਡੀ਍ ਷ੁਣਨਾ (B) ਟੀ ਵੀ ਦ੃ਖਣਾ
(C) ਨਾਟਕ ਖ੃ਡਣਾ (D) ਕ੅ਈ ਨਸੀ
86. “ਹਵਆਸ ਜ੅ਗ੃ ਕ੃ ਅੜ੍ਾਟ ਬ੅ਗ੃ ਕ੃” ਅਖਾਣ ਦਾ ਬਾਵ
(A) ਘੱਟ ਉਭਯ ਦਾ ਸ੅ਣਾ ਩ਯ ਹਵਆਸ ਰਈ ਜਰਦੀ ਕਯਨਾ (B) ਹਵਆਸ ਹਵੱਚ ਫਸੁਤ ਯ੆ਰਾ ਩ਾਉਣਾ
(C) ਖੁਸ਼ੀ ਹਕ਷੃ ਦੀ ਸ੅ਣੀ ਤ੃ ਭਨਾਵ੃ ਕ੅ਈ ਸ੅ਯ (D) ਹਯ਷ਤ੃ਦਾਯੀ ਦਵ੃ ਹਵਆਸ ਦੀ ਜੁੰ ਭ੃ਵਾਯੀ ਚੁਕਣਾ

87. ਵਾਯ ਹਰਖੀ ਜਾਂਦੀ ਸ੄
(A) ਩ਉੜ੍ੀ (B) ਷ਰ੅ਕ
(C) ਅ਷ਟ਩ਦੀਆਂ    (D) ਕ੅ਈ ਨਸੀ
88. ਫ੃ਹ਷ਕ ਹ਷ਹਖਆ ਩ਰਣਾਰੀ ਹਵੱਚ ਹਕੰਨੇ ਹ਷ਧਾਂਤ ਸ਼ਾਹਭਰ ਕੀਤ੃ ਗ਋ ਸਨ?
(A) ਹਤੰਨ (B) ਦ੅
(C) ਚਾਯ (D) ਩ੰਜ
89. ਜ੅਷ਪ ਜ੃. ਵ੃ਫਯ ਅਨੁ਷ਾਯ ਹਕੰਨੇ ਪੀ਷ਦੀ ਹਗਆਨ ਅੱਖਾਂ ਯਾਸੀਂ ਗਰਹਸਣ ਕੀਤਾ ਜਾਂਦਾ ਸ੄ ?
(A) 17 ਪੀ਷ਦੀ (B) 40 ਪੀ਷ਦੀ

(C) 25 ਪੀ਷ਦੀ (D) 3 ਪੀ਷ਦੀ

90. ਩ਾਿ ਮ੅ਜਨਾ ਦਾ ਷ੰਫਧ ਅਹਧਆ਩ਨ ਦੀ ਹਕਸੜ੍ੀ ਅਵੱ਷ਥਾ ਨਾਰ ਸ੄
(A) ਷ਧਾਯਨ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ (B) ਉੱਤਯ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ
(C) ਩ੂਯਵ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ (D) ਕ੅ਈ ਨਸੀ
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ખંડ – III 

ભાષા – II 

ગુજરાતી 

આ ખંડમા ંકલુ ૩૦Ṕὴનો છે. 

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે. 

61. િબનઅનુભવી િશ᷵ક નીચેનામાંથી ᷺યા Ṕકારના પὴનો સરળતાથી કાઢી શકે છે ?

(A) ટૂંક જવાબી (B) ἶનબધ Ṕકારના (C)  અનાḉમાલ᷵ી (D) વḚતુ લ᷵ી

62.ઉḉṔે᷵ા અલંકારનું ઉદાહરણ શોધીન ેલખો.

(A) દમયંતીનું મુખ ચṑં જેવુ છે (B) ἓવનવાડી કરમાઇ ગઇ  (C) હૈયુ ἒણે િહમાલય

(D) તેન ુἙદન સાંભળીન ેદવાખાનાની દીવાલો Ṓુἓ ઉઠી.

63. 'મહારાજ તો ખુશ ખુશ થઈ ગયા !' વા᷺યમાં િનપાત જણાવો.

(A) ગયા (B) તો (C) ખુશ ખુશ (D) થઈ

64. 'કળ વળવી' - ἙἵઢṔયોગનો અથ᷷ આપો.

(A) ડર લાગવો (B) ભૂખ લાગવી (C) ἶચતા થવી (D) િનરાંત થવી

65. મોડી મોડી ખબર પડી, બા તું જ છો ḁયોિતધામ ! છંદ લખો.

(A) િશખἵરણી  (B) પḊૃવી (C) મંદાṀાḍતા (D) હἵરગીત

66. નીચેનામાથંી કયું ઉદાહરણ ઉપમા અલકંારનું નથી ?
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(A) ધીમે-ધીમ ેતે ડગ ધરતો - કોઈ મή ગજેḍṑની માફક (B) ડોહો સોટા જેમ હાલવા ચાલવા લા᷼યો

(C) વદન સુધાકરને રહુ િનહાળી (D) કાચ, ઘἵડયાળ અને સḉયની પેઠે ટાઈમટેબલ પણ નાજુક વḚતુ છે.

67. નીચે આપેલ વા᷺યમાં રેખાἵંકત શḐદનો કૃદંતનો Ṕકાર જણાવો.

લખવંુ વાચંવુ ંએ કંઈ કેળવણી નથી. 

(A) ભિવḙય કૃદંત (B) વત᷷માન કૃદંત (C) સબધં કૃદંત (D) િવḌયથ᷷ કૃદંત

68. 'મયૂરવાિહની' શḐદનો સમાસ ઓળખાવો.

(A) તḉપἘુષ (B) બહુṜીહી (C) કમ᷷ધારય  (D) ઉપપદ

69. મુ᷺ તકનો િવશેષ ગુણ કયો છે ?

(A) પારદἿશતા (B) છંદ  (C) ચમḉકૃિત  (D) સચોટતા

70. નીચે આપેલા િવકḕપોમાથંી સાચી જોડણી શોધીને લખો.

(A) Ḓયુિનિસપાલીટી  (B) Ḓયુિનિસપાિલટી (C) Ḓયુનીિસપાિલટી (D) Ḓયુિનસીપાલીἵટ

71. ἵṀયાપદનાં કેટલા Ṕકાર છે ?

(A) 7 (B) 9 (C)  6 (D) 11

72. સિંધ જોડો  - ધનુસ ્+ ધર

(A) ધનુધર (B) ધનુ᷷ધર (C) ધનુધ᷷ર  (D) ધનુધર᷷

73. શḐદસમૂહ માટ ેએક શḐદ આપો - જૂની Ṕણાિલકાનું આચરણ તમેજ સમથ᷷ન કરનાર

(A) Ṕખારવાદી (B) ἙἵઢચુḚત (C) ઝનૂની  (D) પરપંરાગત
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74.નીચેનામાંથી કયો શḐદ 'પḊૃવી'નો સમાનાથὁ નથી ?

(A) ચપલા (B) અવિન (C) અચલા (D) ઈલા

75. 'સંચય' શḐદનો િવἘḋધાથὁ શḐદ કયો છે ?

(A) ḗયય (B) િવધેય (C) િવṀય (D) િવનય

76. મોહન ચતુર િવὸાથὁ છે. આ વા᷺યમાં િવશેષણ કયું છે ?

(A) મોહન (B) ચતુર (C) િવὸાથὁ (D) છે.

77. અલકંાર ઓળખાવો : 'ἶજદગી એટલ ેἶજદગી' .

(A) ઉપમા (B) યમક (C) Ἑપક  (D) અનḍવય

78. કયો સમાસ ઉપપદ સમાસ નથી ?

(A) તટḚથ (B) અખૂટ (C) અનુજ (D) એકપણ નિહ

79. નીચેનામાથંી કઈ ભાવવાચક સં᷶ા નથી ?

(A) હાḚય (B) માતૃḉવ (C) વḉસલ (D) સુગંધ

80. એ Ṕḉયય કઈ િવભા᷺તીમાં આવી શકે છે ?

(A) પહેલી (B) ṏીἓ (C) સાતમી (D) ઉપરની બધી

81. ‘કથન કૌશḕય’માં નીચેનામાંથી કી બાબતનો સમાવેશ થતો નથી ?

(A) હાવભાવ (B) શḐદ ઉપર ભાર (C) આરોહ-અવરોહ (D) સુંદર હḚતા᷵ર
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82. ‘કેવું સુંદર ચંṑ !’ વા᷺યનો Ṕકાર જણાવો. ?

(A) સાદંુ વા᷺ય  (B) ઉḋગાર વા᷺ય  (C) આ᷶ાથ᷷ વા᷺ય  (D) િવિધ વા᷺ય

83. બાળકમા ંકયું કૌશḕય સૌથી છેḕલે િવકસ ેછે ?

(A) ṝવણ (B) લેખન  (C) કથન (D) વાંચન

84. નીચેનામાંથી શેની Ṕવૃિή બાળકમાં સૌથી પહેલા કરાવવાથી બાળક ભાષા શીખશે ?

(A)વાંચન (B) લેખન (C) કથન (D) ṝવણ

85. ‘વત᷷માનકાળનો અનુભવ ભૂતકાળ જેવો જ છે.’ એવું સમἒવતો અનભુવ એટલે...

(A) પુન:ṔાિḎત (B) Ṕḉયિભ᷶ા (C) સંચય (D) સંકતેાન᷺ન

નીચે આપેલા ગὸાંશના આધારે ṔὴનṀમાકં 86 થી 90 Ṕὴનોના જવાબ આપો : 

દુકાનમાં ગોઠવેલી મીઠાઈને જોવા માટ ેઘણાખરા ઊભા હતા. કેટલીક પારસી બાઈઓ મીઠાઈની ખરીદી કરતી હતી; પણ 

સૌથી દૂર ખણૂામાં, એક નાનો દસ-બાર વષ᷷નો છોકરો, અḉયંત તૃḙણાથી અિનમેષ ṑિὼએ મીઠાઈના થાળ તરફ - ખાસ 

કરીને સૌથી આગળ પડલેા જલેબીના ચકચિ᷺ત ગૂંચળાઓ તરફ જોઈ રύો હતો અચાનક મે જોયો ભિ᷺તભાવથી ἒણે 

એની ṑિὼ ḉયા ંચἼટી રહી હતી. 

86. દુકાનમાં શું ગોઠવેલું હતું ?

(A) ફરશાણ(B) મીઠાઈ (C) દવા (D) જલબેી

87. દૂર ખૂણામા કોણ ઉભો હતો ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

(59)ST-2 A
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88.જલેબીના ચકચિ᷺ત ગૂંચળાઓ તરફ કોણ જોઈ રύું હતું ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

89. મીઠાઈ કોણ ખરીદતું હતું ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

90. ભિ᷺તભાવથી ἒણે કોની  ṑિὼ ḉયા ંચἼટી રહી હતી. આ વા᷺ય કોણ બેલ ેછે ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

(60)ST-2 A

P.T.O.
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SECTION-IV

- IV

SOCIAL STUDIES

There are 60 questions all in this section.

All questions are compulsory.

91. At which place of the Indus Valley civilization evidence of Godiwara (Dockyard) was found?

(A) Manda (B) Harrappa

(C) Lothal (D) Dholavira

(A) (B) 

(C) (D) 

92. Which 'Veda' was wrote in prose and poetry both.

(A) Rigveda (B) Yajurveda

(C) Samaveda (D) Atharvaveda

(A) (B) 

(C) (D) 

93. The incident of Buddha's death is known as -

(A) Kevalya (B) Dharmchakrapravartan

(C) Mahaparinirwan (D) Mahabhiniskraman

(A) (B) 

(C) (D) 
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94. Which is the incorrect option, in context of  the Mahajanapadas republic.

(A) Alkapp - Buli (B) Mithila - Videh

(C) Ramagram - Koliya (D) Piplivan - Mall

(A) (B) 

(C) (D) 

95. Who among the following kept the details of income and expenditure in the Maurya administration?

(A) Sannidhata (B) Samaharta

(C) Mudradhyaksh (D) Pradestha

(A) (B) 

(C) (D) 

96. Who was not included in the Navaratnas of Chandragupta-II?

(A) Shanku (B) Ghatkarpar

(C) Aryabhatt (D) Varah Mihir

(A) (B) 

(C) (D) 

97. Which of the following 'grantha' was not written by Harshavardhana?

(A) Harshcharit (B) Ratnavali

(C) Naganand (D) Priyadarshika

(A) (B) 

(C) (D) 
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98. Which temple is not located at Java?

(A) Borobudur (B) Mendoot

(C) Laro-Jangrang (D) Bayon

(A) (B) 

(C) (D) 

99. Which one of the following is incorrect ?

(A) Ramanand acted as a bridge between north and south India during bhakti movement.

(B) Guru Nanak was born in Talwandi (Pakistan).

(C) Sant Raidas was the main disciple of Ramanujacharya.

(D) Chokhamela was a famous Saint of Maharastra.

(A) 

(B) 

(C) 

(D) 

100. Who was the British Governer General during the revolt of 1857 -

(A) Lord Dalhousie (B) Lord Dufferin

(C) Lord Canning (D) Lord Mayo

(A) (B) 

(C) (D) 
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101. With reference to the Indian Renaissance and Religious Reform Movement, consider the following

statements:

1. Brahm Samaj was founded by Rajaram Mohan Roy in 1828 AD.

2. Raja Rammohan Roy published Miratul newspaper in Urdu language.

3. With the efforts of Swami Dayanand Saraswati, the practice of  Sati Pratha was declared illegal in

1829 AD during the time of William Bentinck.

4. Prarthana Samaj was founded by Keshav Chandra Sen.

Which of the above is/are true statement-

(A) Only 1 (B) 1 & 2

(C) 1 & 3 (D) 2, 3 & 4

1. 

2. 

3. 

4. 

(A) (B) 

(C) (D) 

102. Who was the first Indian to oppose the 'drain of wealth' ?

(A) Mahatma Gandhi (B) R. P. Dutt

(C) Dada Bhai Nauroji (D) Bal Gangadhar Tilak

(A) (B) 

(C) (D) 
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103. Cosider the following statements -

1. The non-cooperation movement was withdrawn on February 12, 1923.

2. Gandhi broke the English law by making salt in Dandi on April 6, 1930.

3. Gandhi-Irwin Pact was signed on March 5, 1930.

4. Gandhiji's Quit India resolution was accepted by the All India Congress Committee in Bombay on

August 8, 1942.

Choose the correct Statements from above-

(A) Only 1 & 4 (B) Only 2 & 3

(C) Only 2 & 4 (D) 1, 2, 3 & 4

(A) (B) 

(C) (D) 

104. Which of the following is not a correct pair-

Ancient Civilization Place District

(A) Balathal Udaipur

(B) Ganeshwar Sikar

(C) Pachamata Chittorgarh

(D) Chandrawati Sirohi

(A) 

(B) 

(C) 

(D)
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105. Which of the following ruler is known as forgotten king or unsung hero -

(A) Rao Maldev (B) Rao Chandrasen

(C) Swai Jaisingh (D) Ajeet Singh

(A) (B) 

(C) (D) 

106. At which place did the army of Thakur Kushal Singh of Auwa defeated the army of Jodhpur state?

(A) Khejarla (B) Lahsani

(C) Bithora (D) Aasop

(A) (B) 

(C) (D) 

107. Who was the ruler of Sikar at the time of  Jat Prajapati Mahayagya (1934) -

(A) Devi Singh (B) Kalyan Singh

(C) Laxman Singh (D) Hukam Singh

(A) (B) 

(C) (D) 

108. When did "Sanyukt Vrihad Rajasthan" came into existence at the time of integration of Rajasthan?

(A) 30 March 1949 (B) 18 April 1949

(C) 15 May 1949 (D) 26 Jan 1950

(A) (B) 

(C) (D) 
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109. 84 pillared cenotaph is located at ?

(A) Kota (B) Karauli

(C) Bundi (D) Alwar

(A) (B) 

(C) (D) 

110. In which region, the 'Dhol nritya'  is performed?

(A) Bharatpur (B) Jalore

(C) Shekhawati (D) Udaipur

(A) (B) 

(C) (D) 

111. Who included shramik as the fifth varna in the traditional Chaturvarna system?

(A) Sant Kabir (B) Sant Dadu

(C) Sant Pipa (D) Jasnath Ji

(A) (B) 

(C) (D) 

112. Which of the following is a 'Sushir instrument' ?

(A) Madal (B) Kartal

(C) Tasha (D) Algoja

(A) (B) 

(C) (D) 
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113. Which ornament is worn by women on the head?

(A) Damana (B) Bajatti

(C) Memand (D) Jhanjhar

(A) (B) 

(C) (D) 

114. Which one of the following is not a salient feature of Indian constitution ?

(A) Single Citizenship (B) Independent and Impartial Judiciary

(C) Parliamentary Sovereignty (D) Parliamentary System

(A) (B) 

(C) (D) 

115. Under which article the right to equality of opportunity has been provided?

(A) Article 14 (B) Article 15

(C) Article 16 (D) Article 19

(A) (B) 

(C) (D) 

116. When was the National Commission for Protection of Child Rights established ?

(A) 12 October, 2005 (B) 5 March, 2007

(C) 12 February, 2010 (D) 5 May, 2011

(A) (B) 

(C) (D) 
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117. Which one of the following is not a fundamental duty ?

(A) To have compassion for every living being

(B) To protect the dignity of the individual and the unity and integrity of the nation.

(C) To safe guard public property

(D) To defend the country

(A) 

(B) 

(C) 

(D) 

118. When is the National Voters' Day celebrated ?

(A) 25 January (B) 24 April

(C) 12 October (D) 5 June

(A) (B) 

(C) (D) 

119. Who presides over the joint sitting of both the Houses of Parliament?

(A) President (B) Prime minister

(C) Speaker of Lok Sabha (D) Chairman

(A) (B) 

(C) (D) 
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120. In the president election of 2022, which census will be determined for the value of the votes ?

(A) 1951 (B) 1971

(C) 2011 (D) 2021

(A) (B) 

(C) (D) 

121. What is the minimum number of judges required in the bench hearing constitutional cases in the

Supreme Court?

(A) 2 (B) 5

(C) 7 (D) 9

(A) (B) 

(C) (D) 

122. In which term of Rajasthan State Legislative Assembly,  it was decided to have 200 members for the first time-

(A) 5th (B) 6th

(C) 7th (D) 8th

(A) (B) 

(C) (D) 

123. In accordance with the provisions made by the 73 constitutional Amendment, when did the Government

of Rajasthan passed the Act and implemented it in the State?

(A) 24 April, 1992 (B) 23 April, 1993

(C) 24 April, 1993 (D) 23 April, 1994

(A) (B) 

(C) (D) 
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124. Choose the incorrect statement?

(A) The axis of the earth instead of making right angle with its orbital plane,makes an inclination of 23½º.

(B) The axis of earth makes an angle of 66½º with its orbital plane.

(C) Rotation of earth is maximum at the poles.

(D) The earth rotates west to east on its axis.

(A) 23½º

(B) 66½º 

(C) 

(D) 

125. Chinook wind blows along with which mountain ?

(A) Rocky Mountain (B) Alps Mountain

(C) Atlas Mountain (D) Andies Mountain

(A) (B) 

(C) (D) 

126. Which one is not a characteristics of cyclones-

(A) Cyclones are areas of low pressure

(B) Pressure decreases outwards from the centre

(C) The winds move towards the centre in cyclones

(D) In Southern hemisphere, the winds blows clockwise in cyclones

(A) 

(B) 

(C) 

(D)
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127. Which symbol was used by Koppen for warm temprate humid climate -

(A) B (B) C

(C) D (D) E

(A) B (B) C

(C) D (D) E

128. Which one is incorrect Statement-

(A) The first Earth Summit was held in Rio de Janeiro, Brazil in 1992.

(B) The pH value of acid rain is between 5.0 to 7.5

(C) United Nation Green Climate fund was established in Doha Conference, November 2012

(D) The Montreal Protocol deals with ozone depletion.

(A) 

(B) pH

(C)

(D)

129. Miri, Mishami, Abor and Dafla hills are part of-

(A) Greater Himalyas (B) Lesser Himalyas

(C) Sub-Himalyas (D) Trans Himalyas

(A) (B) 

(C) (D) 

130. In which season West Bengal occurs the rainfall with 'Kal Vaisakhi' Storms.

(A) Winter Season (B) Summer Season

(C) Rainy Season (D) Automn Season

(A) (B) 

(C) (D) 
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131. Which tree is example of Tidal forest ?

(A) Rizophora (B) Oak

(C) Spruce (D) Deodar

(A) (B) 

(C) (D) 

132. Which one is not correctly matched.

(A) Integral Coach factory- Perambur (B) Hindustan Shipyard Ltd. - Visakhapatnam

(C) Hindustan Aeronautics Ltd.-Bengluru (D) Bharat Electronics Ltd.- Bhopal

(A) (B) 

(C) (D) 

133. The State which has minimum percentage of Urban popuation in total population?

(A) Mizoram (B) Himachal Pradesh

(C) Maharashtra (D) Tamilnadu

(A) (B) 

(C) (D) 

134. The Plateau between Bijolia to Bhainsrodgarh is called -

(A) Mesa (B) Bhorat

(C) Uparmal (D) Bhakar

(A) (B) 

(C) (D) 
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135. Which one of the following is not correctly matched -

 Main River Tributary

(A) Banas - Kothari

(B) Kalisindh - Parvati

(C) Luni - Guhia

(D) Mahi - Som

(A) 

(B) 

(C) 

(D) 

136. The canal  built by Maharana Fateh Singh to supply additional water of Aahar river to Fatehsagar Lake is?

(A) Chikalwas (B) Moravani

(C) Satolia (D) Amarjok

(A) (B) 

(C) (D) 

137. The first sugar mill in Rajasthan was established at -

(A) Keshoraypatan (B) Shriganganagar

(C) Bhopalsagar (D) Beawar

(A) (B) 

(C) (D) 
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138. The districts with the highest and lowest female literacy are?

(A) Kota and Pratapgarh (B) Jhunjhunu and Jalore

(C) Kota and Jalore (D) Jhunjhunu and Pratapgarh

(A) (B) 

(C) (D) 

139. National Consumer Day is celebrated in India on-

(A) 24 October (B) 24 December

(C) 5 November (D) 15 March

(A) (B) 

(C) (D) 

140. Match the followings-

Banks in India  Establishment

1. Industrial Reconstruction Bank of India i. 1948

2. Export-Import Bank ii. 1964

3. Industrial Finance Corporation of India iii.1985

4. Industrial Development Bank of India iv. 1982

1 2 3 4

(A) ii i iii iv

(B) iv iii ii i

(C) iii iv i ii

(D) iii iv ii i
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1. i.  1948

2. ii. 1964

3. iii.1985

4. iv. 1982

1 2 3 4

(A) ii i iii iv

(B) iv iii ii i

(C) iii iv i ii

(D) iii iv ii i

141. Consider the following statements-

1. State bank of India is the Central bank of India.

2. One Rupee note bears the signature of the finance secratory, Govt of India.

3. Reserve bank of India was established in 1935.

4. The current Governer of Reserve bank of India is Urjit R. Patel.

Which of the above statements is/are correct-

(A) 1 & 2 (B) 2 & 3

(C) 2, 3 & 4 (D) 1, 2, 3 & 4

(A) (B) 

(C) (D) 
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142. There is an investment element in-

(A) Marine Insurance (B) Life Insurance

(C) Fire Insurance (D) Crop Insurance

(A) (B) 

(C) (D) 

143. Which of the following education programme was started by Government of Rajasthan -

(A) DIKSHA (B) Siksha Darshan

(C) Gyan Darshan (D) Gyan Vani

(A) (B) 

(C) (D) 

144. Heuristic method is based on-

(A) Exploration of new concepts (B) Teaching by Tour

(C) Team Teaching (D) Teaching by Playing

(A) (B) 

(C) (D) 

145. What is recommended by NCF-2005 regarding social studies -

(A) There is a need to shift the focus of social studies from egalitarianism to utilitarianism.

(B) The local perspective should be given importance rather than the national perspective.

(C) It is suggested that instead of civics the term Public Administration be used.

(D) At the secondary stage, the Social Sciences comprise History, geography, sociology, political science

and economics.

NCF-2005 

(A)

(B)

(C)

(D)
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146. Which one is not correctly matched-

(A) "A project is a wholehearted purposeful activity proceeding in a social environment." - Kilpatrick

(B) "Project is a problematic task." - Ballard

(C) "A project is a unit of activity in which pupils are made responsible for planning and purposing." -

Parker

(D) "Purposeful work organized by children to be accomplished in real life situations is called Purpose."

- Binning

(A)

(B)

(C)

(D)

147. Which one is correctly matched-

(A) Magic Lantern - Projected visual aid (B) Epidiascope - Non- Projected visual aid

(C) Chart - Projected visual aid (D) Linguaphone - Non-Projected visual aid

(A) (B) 

(C) (D) 

148. The principle of curriculum construction is-

(A) Principle of flexibility (B) Principle of Action centeredness

(C) Principle of psychology (D) All of the above

(A) (B) 

(C) (D) 
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149. Match the following-

Principle/Model Founder

(I) Social enquiry model (I) Richard Suchman

(II) Enquiry training model (2) Benjamin Cox

(III) Reflective level of teaching (3) Charles Pears

(IV) Pragmatism (4) Morris P. Hunt

Code -

I II III IV

(A) 1 2 4 3

(B) 2 1 4 3

(C) 1 2 3 4

(D) 1 3 2 4

(I) (1) 

(II) (2) 

(III) (3) 

(IV) (4) 

I II III IV

(A) 1 2 4 3

(B) 2 1 4 3

(C) 1 2 3 4

(D) 1 3 2 4

150. Remedial teaching is also known as-

(A) Classroom teaching (B) Dignostic teaching

(C) Medical teaching (D) Achievement improvement teaching

(A) (B) 

(C) (D) 
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य�ुम,पयाय� वाची तथा सामा�य अ�ंजेी म � Antonyms ,One Words आ�द को टा�क के �प म � �व�ाथ� को �दए जायग�  े

एव ंयाद करवाया जायगेा �जसस े इन टॉ�प�स पर अ�छी पकड़ �वक�सत हो ।

T �ार�ं भक परी�ा क� द�� स ेपा��म अनसुार कुछ टॉ�प�स जसै े : राज�ान क� कला एव ंस�ंकृ�त म � शा�मल टॉ�प�स - ृ

�कल,े म�ंदर, महल, �च�कलाए,ं ह�त�श�प कला, लोक सगंीत, लोक ना�  आ�द ; राज�ान क� राज�यव�ा म � शा�मल 

टॉ�प�स - राज�ान लोक सवेा आयोग, रा�य मानवा�धकार आयोग, आ�द; रा�य सरकार क� �मखु योजनाए ंआ�द पर �� 

परी�ा म � अव�य ही पछेू जात ेह � ऐस े टॉ�प�स को ��त�दन टा�क के �प म � याद करवाया जायगेा ता�क �ार�ं भक परी�ा म �

आन ेवाल ेसभंा�वत �� आसानी स ेहल कर पाए ं ।

D Toppers Based Guidance Programme

उदाहरणत :

T कुछ मह�वपणू � �वषय आपको RAS 2016 एव ं2018 Toppers के मागद� शन�  म � पढ़ाय ेजायग�  ेजो परी�ा क� द�� स ेृ

अ�तमह�वपणू  � ह � एव ं �जनम े मागद� शन�  क� आव�यकता सामा�यतः �व�ाथ� �ारा महससू  क� जाती ह ै । 

T �नय�मत �प स ेक�ा म � आपको RAS Toppers स ेसवंाद करन ेका अवसर �दान कराया जायगेा ता�क उनके अनभुव� स े

लाभ उठाकर आप अपनी परी�ा म � सफलता स�ुन��त कर सक�  ।

D  इसके अतंगत�  पा��म म � शा�मल ऐस े Topics का चयन Task के �प म � �कया गया ह ैजो परी�ा क� Task Based Study :

द�� स ेअ�त मह�वपणू � ह ैएव ं �जनम े स ेपरी�ा म � �� अव�य पछेू जात ेह � । इन Task Topics क� �कृ�त �ार�ं भक एव ंम�ुय परी�ा ृ

के �लए अलग-अलग होगी �य��क �ार�ं भक परी�ा म � व�त�ुन� �कार के �� पछेू जात ेह � एव ंम�ुय परी�ा म � वणा�� मक �कार के 

�� हल करवाए जात ेह � ।

D Answer Writing Practice :

T Minor Tests : क�ा म � पढ़ाय ेगए पा��म का हर 12 �दन बाद एक Minor Test आयो�जत होगा । Minor Test म �

�ार�ं भक एव ंम�ुय परी�ा म � पछेू जान ेवाल े��� क� �कृ�त के अनसुार �� पछेू जायग�  ेएव ंअ�यास करवाया जायगेा । 

D Tri-Level Evaluation (��-�तरीय मू�याकं न)

D स�पणू � पा��म का �वषयवार सव�� �े टीम के मागद� शन�  म � अ�यापन करवाया जायगेा । 

T Major Tests : त�समय तक पढ़ाय ेगए स�पणू � पा��म के �र�वज़न हते ु��यके 3 Minor Tests के बाद एक Major 

Test का आयोजन होगा ।

D  फाउंडेशन कोस � क� समा�� के प�ात् भी �कसी �कार के मागद� शन�  एव ंम�ूया�न के Post Foundation Course Activity :

�लए छा�� स े �नरतं र जड़ुाव रखा जायगेा तथा समय-समय पर रणनी�तक प�रचचाए�  ंक� जाएगी ।

 म�ुय परी�ा म � 15 श�द 50 श�द एव ं100 श�द� म � वणा�� मक �कार के �� पछेू जात ेह � एव ंयह अप�ेा क� जाती ह ैक�

 आप का उ�र �प�, रचना�मक, उदाहराणय�ु हो । अतः �नय�मत �प स ेउ�र लखेन का अ�यास करवाया जायगेा। 

Important Features
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